National Testing Agency

Question Paper Name: 81 Social Medicine and Community Health 3rd Dec 2019 Shift 1
Subject Name: 81 Social Medicine and Community Health

Creation Date: 2019-12-03 14:39:39

Duration: 180

Total Marks: 300

Display Marks: Yes

&1 Social Medicine and Corruruanity Health

Group Number : 1

Group Id: 61547538
Group Maximum Duration : 0

Group Minimum Duration : 180
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0

Group Marks: 300

PART I General Paper

Section Id : 61547581
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 42
Number of Questionsto be attempted: 42
Section Marks: 100
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 615475265
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 6154755975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



From the list given below 1dentify those competencies of an effective teacher which relate to
the domain of personality and attitude.

(a) Locus of control

(b) Communicating

(c) Managing

(d) Self—efficacy

(e) Teacher enthusiasm

(f) Being organised and orderly

Select the correct answer from the options given below :

(1) (a). (b) and (c) (2) (a). (d) and (e)
(3) (b). (c) and (d) (4) (d). (e) and (D
Options:

61547523201, 1
61547523302 2
61547523302, 3
E1547523204. 4

Question Number : 1 Question Id : 6154755975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547523301, 1
E1547523302. 2
B1547523203. 3
61547523204, 4

Question Number : 2 Question Id : 6154755976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In the spectrum of teaching methods which of the following will be called ‘dialogic™?

(a) Demonstration method

(b) Problem—solving method

(c) Chalk and talk method

(d) Team teaching based method
(e) Interactive presentation

(f) Tutorials

Select your answer from the options given below :

(1) (a). (b) and (c) (2) (b). (¢) and (d)
(3) (c). (d) and (e) (4) (b). (e) and (f)

Options:



E1547523205. 1
61547523206, 2
61547523207, 3
61547523308, 4

Question Number : 2 Question Id : 6154755976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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51547523205, 1
61547523206, 2
G1547523207. 3
61547523308, 4

Question Number : 3 Question Id : 6154755977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which level of teaching, lower level learning outcomes get focussed?

(1) Memory level (2) TUnderstanding level
(3) Reflective level (4) Autonomous development level
Options:

515475232091
61547523310, 2
61547523311, 3
E15475235312. 4



Question Number : 3 Question Id : 6154755977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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61547523205, 1
61547523310, 2
61547523311, 3
E15475235312. 4

Question Number : 4 Question Id : 6154755978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following evaluation systems belongs to the category of being an innovative
practice?

(1) Semesterized examinations (2) Performance evaluation
(3) Portfolio based evaluation (4) Learning outcome based evaluation
Options:

E1547523213. 1
61547523214, 2
61547523215 3
61547523316, 4

Question Number : 4 Question Id : 6154755978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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615475232131
61547523214, 2
61547523215 3
E1547523516. 4

Question Number : 5 Question Id : 6154755979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The purpose of ICT use in education 1s to

(1) Attract students (2) Make teaching interesting
(3) Optimise learning outcomes (4) Promote technology culture in teaching
Options:

61547523317, 1
E15475232158. 2
E1547523219. 3
B1547523320. 4

Question Number : 5 Question Id : 6154755979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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61547523317, 1
61547523318, 2
E1547523219. 3
B1547523220. 4

Question Number : 6 Question Id : 6154755980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the post positivistic approach to research which of the following types of researches got

emphasized?
(a) Experimental research
(b) Phenomenoclogical research

(c) Ethnographic research
(d) Ex Post Facto research

(e) Action research

Give the correct answer from the options given below :

(1)  (a). (b) and (c) (2) (b), (c) and (d)
(3) (b). (c) and (e) (4) (c). (d) and (e)

Options:



BE15475235321. 1
B1547523322 2
B1547523323. 3
61547523324, 4

Question Number : 6 Question Id : 6154755980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E15475235321. 1
B1547523322 2
B1547523323. 3
G1547523324. 4

Question Number : 7 Question Id : 6154755981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following formats. ‘Research Abstract’ 1s a must?

(a) Research article

(b) Seminar paper presented
(c) Thesis

(d) Research synopsis

Choose the most appropriate option from those given below :

(1) (a). (c) and (d) (2) (a).(b)and (d)
(3) (a). (b) and (c) (4) (b). (c) and (d)
Options:

615475233251
61547523326, 2
BE1547523327. 3
BE1547523228. 4

Question Number : 7 Question Id : 6154755981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E15475235326. 2
B1547523327. 3
61547523328, 4

Question Number : 8 Question Id : 6154755982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following sequences represents the most logical sequence 1n doing research?

(1) Identifying and defining a research problem. formulating a hypothesis, testing of
hypothesis and reporting the results

(2) Identify a research problem, defining the population and sample, collecting data and
analysis of data

(3) Survey of research. defining the research problem. collecting data and presenting the
outcomes

(4) Defining research wvarables, hypothesizing. testing of research and reporting of

research outcomes

Options:

615475233291
615475223220 2
615475223221, 5
6154752232332 4

Question Number : 8 Question Id : 6154755982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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6154752332291
E1547522220. 2
61547522221,
615475223332 4

Question Number : 9 Question Id : 6154755983 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A umversity teacher intends to study the relationship between level of aspiration and
achievement of rural children. Which design of research will be most appropriate in the
context?

(1) Experimental research design (2) Ex Post Facto research design
(3) Historical research design (4) Survey research design
Options:

E15475235333. 1
B1547523234. 2
61547523235, 3
61547523336, 4

Question Number : 9 Question Id : 6154755983 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E15475235333. 1
B1547523234. 2
61547523235, 3
61547523336, 4

Question Number : 10 Question Id : 6154755984 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hypothesis testing 1s the main concept of which type of research?

(1) Experimental research (2) Historical research
(3) Survey research (4) Exegetic research
Options:

61547523357, 1
E1547523538. 2
E15475232339. 3
B1547523240. 4

Question Number : 10 Question Id : 6154755984 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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61547523337, 1
615475233328, 2
61547523339, 3
E1547523240. 4

Question Number : 11 Question Id : 6154755985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Communication 1n the classroom takes place in which of the following levels?

(1) Opportunmistic meaning (2) Surfacial meaning
(3) Noise-level meaning (4) Non-coded meaning
Options:

615475232411
B15475232342 2
61547523343 3
61547523344, 4

Question Number : 11 Question Id : 6154755985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547523241. 1
B15475232342 2
61547523343 3
61547523344, 4

Question Number : 12 Question Id : 6154755986 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Effective classroom communication can transform
(1) academic administration (2) academic marketing

(3 teaching—learning process (4) management strategies



Options:

61547523345 1
615475233246 2
E15475223247. 2
61547522248, 4

Question Number : 12 Question Id : 6154755986 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E15475235345. 1
B1547523346. 2
B15475232347. 3
61547523248, 4

Question Number : 13 Question Id : 6154755987 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Learner communication has relatively high potential of challenging

(1) Teaching as profession (2) Innovative and creative ideas
(3) Methods of evaluation (4) Long-held attitudes
Options:

B1547523249. 1
61547523350, 2
61547523351, 3
61547523352 4

Question Number : 13 Question Id : 6154755987 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E154752323459. 1
B15475232350. 2
B15475232351. 3
61547523352, 4

Question Number : 14 Question Id : 6154755988 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Which of the following are rhetorical techniques for structuring classroom communication?

(a) Relating the day’s topic to students’ interests

(b) Providing scattered information to the target audience

(c) Smooth transition from one 1dea to another

(d) Avoiding the use of artifacts

(e) Using media to improve the quality aspect of reception of messages

(£) Opting for one-way communication

Choose the correct option from the choices given below :

(1) (a). (b) and (c) (2) (b). (c) and (D
(3) (a). (c) and (e) (4) (d). (e) and (D
Options:

61547523353, 1
61547523354, 2
61547523355 3
E15475235356. 4

Question Number : 14 Question Id : 6154755988 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

THEATRa § i 4T AUE T 7 SATARIE a1 7 ¢
(a) Teodm famm #1 foenfaai # sifuwsta | mataa #4

(b) =& AT F T g gEE TEE

(c) o fg=m | F'IFF T=T O T T
(d)  TET T AR g
(e) W3 WITH % TUER UH H AW =q HISAT H I

(f)  TEH—ET FHT SO

Hi= 2o T oo § A I 96T

(1) (a). (b) 3 (c) (2)  (b). () FF (f)

(3)  (a). () T (e) (4)  (d). (e) =T (D
Options:

5154752353531
61547523354, 2
61547523355 3
E15475235356. 4

Question Number : 15 Question Id : 6154755989 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (4) :  Defining the objectives of the topic of dicussion 1s not necessarily the first

step 1n classroom communication

Reasons (R) : Clear definitions of objectives make students understand the topic well.

In the light of the above stated two statements, choose the correct option from the cholces

given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (4)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false. but (R) 1s true

Options:
E1547522357. 1

E1547523558. 2
E1547523259. 3
B15475232360. 4

Question Number : 15 Question Id : 6154755989 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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B1547523357. 1
61547523358, 2
61547523359, 3
61547523360, 4

Question Number : 16 Question Id : 6154755990 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A 1s father of B and C 1s sister of A. D 1s grandson of C. How 1s D related to B?

(1) Uncle (2) Nephew
(3) Cousin (4) Grandson
Options:

BE1547523561. 1
B15475235362. 2
BE15475235363. 3
61547523264, 4

Question Number : 16 Question Id : 6154755990 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ABFUTEs M C AR TAZID.CHIa sl D= Bo o gayg &7

~

(1) ElEL (2) wefra
(3) == 9T (4) T
Options:

61547523261, 1
E1547523362. 2
61547523362, 3
E15475235364. 4

Question Number : 17 Question Id : 6154755991 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ifx:y=7:9 then 3x-by:4x+y ="

- 24 —22
1 — 2) ——
(1) 37 (2) 37
15 42
(3 = e 5 i
) 22 ) 37
Options:

61547523365, 1
61547523366, 2
E1547523367. 3



E1547523568. 4

Question Number : 17 Question Id : 6154755991 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547523565, 1
61547523566, 2
1547523567 2
61547523560 4

Question Number : 18 Question Id : 6154755992 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HHPU=9, JNU =9, then DU =7

(1) 5 (%) 6
(3) 4 4 7
Options:

61547523369, 1
BE15475235370. 2
B15475232371. 3
B1547523372. 4

Question Number : 18 Question Id : 6154755992 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

afe HPU=9,JNU=9, @i DU= 7

(1) 2 (2) 6
(3) 4 4 7
Options:

BE154752326%9. 1
B15475232370. 2
G1547523371. 3
E1547523372. 4

Question Number : 19 Question Id : 6154755993 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one 1s the wrong number in the given series?

3. 13. 43. 53. 63. 83.

(1) 13 (2) 53
(3) 63 (4) &3
Options:

615475233731
61547523374, 2
E15475235375. 3
B15475232376. 4

Question Number : 19 Question Id : 6154755993 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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3. 13, 43, 53. 63, 83

(1) 13 (2) 53
(3) 63 (4) 83
Options:

615475233731
61547523374, 2
61547523375 3
BE15475235376. 4

Question Number : 20 Question Id : 6154755994 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A sum of money with compound interest becomes Rs. 2,400 1n one vear and Rs. 3,000 in two
yvears. Find out the principal amount.

(1) Rs. 1.900 {(2) Rs. 1,910
(3) R=. 1,915 (4) Rs. 1,920
Options:

B1547523377.1
B15475232378. 2
B1547523375. 3
61547523380, 4

Question Number : 20 Question Id : 6154755994 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE1547523377. 1
B15475232378. 2
B1547523375. 3
61547523380, 4

Question Number : 21 Question Id : 6154755995 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The term “Yogaja’ (intuitive) pertains to which of the following pramanas?

(1) Perception (2) Inference
(3) Verbal testimony (4) Comparison
Options:

61547523381, 1
61547523382, 2
E15475235383. 3
E1547523284. 4

Question Number : 21 Question Id : 6154755995 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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BE15475235381. 1
B1547523382. 2
61547523383, 3
61547523384, 4

Question Number : 22 Question Id : 6154755996 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following propositions. both can be true simultaneously but cannot be false
simultaneously?

(1) Contrary (2) Contradiction
(3) Sub contrary (4) Subaltern
Options:

BE15475235385. 1
B1547523386. 2
B1547523387. 3
61547523388, 4

Question Number : 22 Question Id : 6154755996 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475235385, 1
61547523386, 2
E1547523387. 3
E1547523588. 4

Question Number : 23 Question Id : 6154755997 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following pramanas 1s used by classical Indian school of logic to prove the

existence of God?

(1) Arthapatti (postulation) (2) Upamana (comparison)
(3) Perception (Pratyaksa) (4) Inference (anumana)
Options:

61547523289, 1
615475233390, 2
615475233391, 3
E154752353592. 4

Question Number : 23 Question Id : 6154755997 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547523289, 1
615475233390, 2
61547523391, 3
E15475235392. 4

Question Number : 24 Question Id : 6154755998 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“All tigers are animals”. This 1s an example of which type of proposition?

(1) Particular Negative (2) Particular Affirmative
(3) Universal Negative (4) Umversal Affirmative
Options:

BE15475232393. 1
61547523354, 2
61547523385 3
E1547523396. 4

Question Number : 24 Question Id : 6154755998 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o 2 =\ r ey
“gdl =519 TR AR T U%N & T & J2E 2 7

(1)  fagm fuy (2) T fag=
(3)  =EYm fmy (4) TEYE fEs
Options:

61547523393 1
61547523394, 2
B15475233895. 3
B1547523396. 4

Question Number : 25 Question Id : 6154755999 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The inference “A mouse 1s an animal. Therefore, a large mouse 1s a large animal” commits
which one of the following fallacies?

(1) Straw man (2) Shpper slope
(3) Equivocation (4) Fallacy of composition
Options:

61547523397, 1
61547523398, 2
E15475235399. 3
E1547523400. 4

Question Number : 25 Question Id : 6154755999 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =@ (2) Teawdt =g
(3) A (4) @R I
Options:

615475233397, 1
E15475235398. 2
B15475232399. 3
61547523400, 4

Sub-Section Number: 2
Sub-Section Id: 615475266
Question Shuffling Allowed : Yes

Question Id : 6154756000 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension



Directions (Que. : 26-30)

The following table gives the sales of computers of different types or brands over the years
2001 to 2007. Baszed on data. answer the questions (26 — 30).

Number of different types of computers sold (In thousands).

Tvpes of Computers
Lenovo | Acer | IBM | HCL
2001 20 40 50 80
2002 30 25 60 70
2003 50 50 50 55
2004 60 70 40 35
2005 70 85 70 25
2006 80 45 80 20
2007 90 60 100 | 10

Years

-

Sub questions

Question Number : 26 Question Id : 6154756001 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The difference in the number of Acer computers sold 1n 2002 and 2005 1=

(1) 15.000 (2) 20,000
(3) 45,000 (4) 60,000
Options:

61547523401, 1
E1547523402. 2
E1547523403. 3
61547523404, 4

Question Number : 27 Question Id : 6154756002 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The percentage increase 1n the sales of Lenovo computers in 2007 compared to sales 1n
2001 1s

(1) 200% (2) 250%
(3) 300% (4) 350%
Options:

615475234051
61547523408, 2
E1547523407. 3
E1547523408. 4

Question Number : 28 Question Id : 6154756003 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Name the type of computer for which the total sale 1n all the seven years 1s maximum?

(1) IEM (2) Lenovo
(3) Acer (4) HCL
Options:

61547523409 1
E1547523410. 2
E1547523411. 3
B154752341%. 4

Question Number : 29 Question Id : 6154756004 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which vear, the percentage of Acer computers sold as to the total number of computers
sold, was maximum?

(1) 2003 (2) 2004
(3) 2005 (4) 2007
Options:

615475234131
61547523414, 2
61547523415 3
E1547523416. 4

Question Number : 30 Question Id : 6154756005 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Name the type / brand of computer whose sale has decreased continuously over the vears
2001 to 2007.

(1) Lenovo (2) Acer
(3) IBM (40 HCL
Options:

615475234171
61547523418, 2
E1547523418. 3
E1547523420. 4

Question Id : 6154756000 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cesticn Label | Comprehension



s : 9= 9T 26 § 30

e afetl ® 99 2001 H 2007 F 27 70 fafus TR 51991 575 5 Fog 1 ol 1 39 =
2| 31 % 9R W 9vT HEA (26-30) 1 I S0
s U Tt T S e 1 H@en (FEE )

; FH H TFR
2001 20 40 50 30
2002 30 25 b0 70
2003 50 50 30 55
2004 60 70 40 35
2005 7 B85 70 25
2006 80 45 80 20
2007 o0 60 100 10

Sub questions

Question Number : 26 Question Id : 6154756001 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

9 2002 F9T 9 2005 T 59 T UH FogA F DA | THAA AT R 7

(1) 15.000 (2) 20,000
(3) 45.000 (4) 60,000
Options:

61547523401, 1
B1547523402. 2
B1547523403. 3
61547523404, 4

Question Number : 27 Question Id : 6154756002 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 200% (2) 250%
(3) 300% (4) 350%
Options:

E1547523405. 1
B1547523406. 2
61547523407, 3
61547523408, 4



Question Number : 28 Question Id : 6154756003 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

S8 FH T TR FAE0 TT5 T fahl = A F91 F 20 ATTwad T

(1) =My (2) EE
) T (4) = H T
Options:

51547523409 1
61547523410 2
61547523411, 3
61547523412 4

Question Number : 29 Question Id : 6154756004 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fohm = w Aege i1 fahi 1 wfav Fe Tk Fogza 1 g i g § sAtashag = ur?

(1) 2003 (2) 2004
(3) 2005 (4) 2007
Options:

615475234131
61547523414, 2
61547523415 3
E1547523416. 4

Question Number : 30 Question Id : 6154756005 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

36 YA /AT F FgeT F AW Farse, fyedh faf @ =39 2001 ¥ 99 2007 F S0 w69 TREZ R

(1) ] (2) THY
(3) eEETm (4) == H U=
Options:

61547523417, 1
E15475234158. 2
BE1547523418. 3
B1547523420. 4

Sub-Section Number: 3
Sub-Section Id: 615475267



Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6154756006 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In computer related activities. which of the following 1s inappropriate for describing a
language translator?

(1) Assembler (2) Compiler
(3) Interpreter (4) Codec
Options:

61547523421, 1
E1547523422 2
61547523422 3
E1547523424. 4

Question Number : 31 Question Id : 6154756006 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) e (2) FuTEed
(3) == (4) F=F
Options:

B1547523421. 1
B154752342%2 2
E1547523423. 3
61547523424, 4

Question Number : 32 Question Id : 6154756007 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1z most suitable for being designated as Fourth Generation Language
(4GL)?

(1) ALGOL (2) dJava
(3) C (4) SQL
Options:

B1547523425. 1
B1547523426. 2
B1547523427. 3
E1547523428. 4

Question Number : 32 Question Id : 6154756007 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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() TS @ =
(3 = (4) ™
Options:

B1547523425. 1
B1547523426. 2
B1547523427. 3
61547523428, 4

Question Number : 33 Question Id : 6154756008 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — one 15 labelled as Assertion (A) and other as Reason (R) :

Assertion (A) :  Smiffing may be used to steal data or information over a network.

Reasons (R) : Smiffing 1s a process of monitoring and capturing all data packets passing
through given network.

In the light of the above stated two statements. choose the correct option from the choices
given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 13 not the correct explanation of (A)
(3) (A) 13 true, but (R) 1s false
(4) (A) 1s false. but (R) 18 true
Options:
61547523429, 1
61547523430 2

61547523421, 3
61547523432, 4

Question Number : 33 Question Id : 6154756008 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (A =0 (R) ZET T& 2 #17 (R). (A) i 781 == 2

(2)  (A) 2R (R)3HI T= &, 4 (R). (A) i T& == 74 2
(3) (A =E 2, g (R) &=t 75 =

4) (ATE T, FR) TR E

Options:

61547523429, 1
61547522420 2
E1547522421. =2
61547522422 4

Question Number : 34 Question Id : 6154756009 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following terms 1s related to the digital learning environment for design?

(1) e-Vidwan
(2) e-Acharya
(3) e-Kalpa
(4) e-Yantra

Options:

61547523433, 1
61547523434 2
61547523435 =2
61547522436 4

Question Number : 34 Question Id : 6154756009 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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{1} 3"_ Ao dl

2 3 IEdE

(3) A

4 -
Options:

E1547523433. 1
E1547523424. 2
61547523435 3
G1547523436. 4

Question Number : 35 Question Id : 6154756010 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following tools 1s a collaboration tool for providing wirtual classroom

environment?
(1) A-Lab
(2) A—-View
(3) A-—Tutor

(4) A-Learner

Options:

61547523437, 1
61547523438 2
61547523439 2
E1547522440 4

Question Number : 35 Question Id : 6154756010 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fr=fafaa 8 & =0 =31 79 (7)) 9 391 Fe = ge w60 v gEel 39 (29) B 7
1) -

(2) -

(3) U-cHet

(4) U=

Options:
615475223457, 1



B1547523438. 2
B1547523435. 3
61547523440, 4

Question Number : 36 Question Id : 6154756011 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Methane. a greenhouse gas. 15 emitted from

(a) landfills

(b) construction debris
(c) wet lands

(d) e-waste

Choose the correct statements from the options given below :

(1) {a). (b) and (d) (2)  (a). (c) and (d)
(3) (a) and (c) only {4) (a)and (d) only
Options:

615475234411
61547523442 2
61547523442 3
E1547523444. 4

Question Number : 36 Question Id : 6154756011 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Meq, TF W9 w18E 79, AeeEd 5§ R ety B R

(a) E-;.-:!-:F-'{*':g
(b)  TAui FH * Ty
(¢) =AY

i

(d) -3 IEE

ety 7 8 w1 ey =91

(1) (a). (b) =T (d) (2} (a). (c) 3 (d)
(3)  =ae (a) FE () (4) =Fae (a) @R (d)
Options:

61547523441, 1
E1547523442. 2
B1547523443. 3
B1547523444. 4

Question Number : 37 Question Id : 6154756012 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The share of which of the following sources of energy in electricity generation in India at
present 1s the least?

(1) Thermal (2) Solar and Wind
(3) Hydro (4) Nuclear
Options:

61547523445 1
61547523446, 2
E1547523447. 3
E1547523448. 4

Question Number : 37 Question Id : 6154756012 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g 7 T seqeT # 9989H | Fefatad 7 B a0 |m 0 e e 20
(1) == (2) =R #HT T
{3} [ - I: "~ (4} 5 ; :

Options:

61547523445 1
61547523446, 2
E1547523447. 3
E1547523448. 4

Question Number : 38 Question Id : 6154756013 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Biosphere reserves are :

(1) area comprising terrestrial. marine and coastal ecosystems
(11) monitored by national governments
(1) areas where threatened amimals and plants are kept in their habitat

(tv)  wildlife sanctuaries

Choose the correct statements from the options given below :

(1) (1) and (11)
(2) (11) and (111)
(3) (i11) and (1v)
(4) (1) and (1v)

Options:
15475224459 1



E1547523450. 2
61547523451, 3
61547523452, 4

Question Number : 38 Question Id : 6154756013 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
(1) Y-9rfia, AMfeh AR a2adi arii-a a3k

1)  TEE TERE g i

(i) o TATH FEl THZ-TEG TS TEl 396 T=EE | T A7

(1v)  FHE AgETg

fafefiga el § 3 =81 e =4 -
(1) (1) ¥ (i)
(2) (i) 3T (iii)
(3)  (iil) # (iv)
4) (1) # W (i)
Options:
E1E47EZ=24449 1
61547523450, 2

B1547523451. 3
B1547523452. 4

Question Number : 39 Question Id : 6154756014 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



A green building

(1) uses minimum amount of energy
(11) generates waste

(i11) consumes a lot of water

(1v) conserves natural resources

(v) creates space for healthy hiving

Choose the correct statements from the options given below :

(1) (1). (11) and (111)
(2) (1). (iv) and (v)
(3) (11). (111) and (v)

(4) (). (iv) and (v)
Options:
1547522452 1
E1547522454 2
61547522455 2
61547523456 4

Question Number : 39 Question Id : 6154756014 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



U TAE S3EE WA (0 fafee)
(1) a9 FA1 F IIE0 FAT A
(i)  ITafTE giEd w2

(i) = AaF F= F T F
(iv)  TTHfdE HETEAT 1 HE FA 7

(v) T SEA & AT T geA e 2

Friferfian fpet & @ F9 T
(1) (). (i) 37 (i)
@  @. Gv) (W)
(3) (). (i) H (v)

(4) (i), (iv) T (V)

Options:

61547523453 1
61547523454 2
61547523455 =2
E1547522456 4

Question Number : 40 Question Id : 6154756015 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

National Disaster Management Authority 1s an agency of the Ministry of

(1) Jal Shakti (2) Home Affairs
(3) Earth Science (4) Housing and Urban Affairs

TEE A9 TEeH e Fetatad § O B g i o v 27

(1) == 3 @ T=wE
(3) gzl fawm (4) oTE™ 3R wEd =
Options:

61547523457, 1
E1547523458. 2
E1547523459. 3
B1547523460. 4

Yes



Question Number : 40 Question Id : 6154756015 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TP ATIET e e efatad 4 o R weres f o et 20

(1) == =1 2 T F
(3) g faEe (4) EE AT TR T
Options:

BE1547523457. 1
E1547523458. 2
61547523455, 3
61547523460, 4

Question Number : 41 Question Id : 6154756016 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the distinctive feature of traditional method of Indian education from the following
st :

(1) Direct perception of truth’ — both as means and end
(2) Making everything on "Trust’
(3) Evolving own way of learning

(4) Following Nyava Philosophy with Deductive — Inductive Process

Options:

61547523461, 1
61547523462 2
615475224632 2
E1547522464 4

Question Number : 41 Question Id : 6154756016 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frterfign g=h 9 9 awdE fen 1 araier sone =+ e @ = g i

(1) TOeg T U9 Y e AR O & =9 o

(2)  TEavEE F YR W 5aHg 9T

(3)  ATE = A9 FOF I EAHEE F

(4)  TPTHATOIE - AR UG Ay = 39 e

Options:

61547523461, 1
61547523462 2
615475223462 5
61547522464, 4



Question Number : 42 Question Id : 6154756017 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following provides the overarching wvision that guides research into socially
relevant-areas?

(1) ARITA (2) IMPRINT
(3) NIRF (4) SWAYAM PRABHA
Options:

B1547523465. 1
B1547523466. 2
G1547523467. 3
61547523468, 4

Question Number : 42 Question Id : 6154756017 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fratofas 4 @ #0 vF aAfdeas 2fe TR w2 S A ¥ W U6 S § 9 H AeEeE 2an
23
(1) T©RAEART (2) A uH O AR 7S A
(3) TH I AN TF (4) w=F T
Options:

61547523465 1
E154752346E6. 2
BE1547523467. 3
B1547523468. 4

Question Number : 43 Question Id : 6154756018 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which of the following, ‘One Nation. One Standard’ 1s mentioned as the ‘'mantra’ to ensure
national standards and quality.

(1) National Policy on Education — 1968
(2) National Policy on Education — 1986
(3) National Policy for Skill Development and Entrepreneurship — 2015
(4) NITI Aayog — Three Year Action Agenda — 2017—18 to 20192020
Options:
61547523469, 1
61547522470 2
61547523471, 2
61547523472 4

Question Number : 43 Question Id : 6154756018 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) T foe Hfifa-1968
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Options:
51547523469. 1
61547523470, 2
1547522471 2
61547523472, 4

Question Number : 44 Question Id : 6154756019 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Non-traditional teaching and learnming strategies lay emphasis on

(1) Students’ need based resource materials and learning standards
(11) Developing skills, attitude and values

(in) Promoting In-Box thinking process

(1v) Lecture based model

(v) Acquiring knowledge necessary to respond creatively

Select your answer from the following options :

(1) (1). (11) and (v) (2) (). (i) and (1v)
(3) (111), (1v) and (v) (4 (). v) and (v)
Options:

615475234731
61547523474, 2
E1547523475. 3
BE1547523476. 4

Question Number : 44 Question Id : 6154756019 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1) @), (D) 7R @) (2) (). (i) = (iv)

(3)  (iiD). (iv) T (v) @) @), (v) 377 (v)
Options:

B1547523473. 1
61547523474 2
61547523475 3
61547523476, 4

Question Number : 45 Question Id : 6154756020 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify values specially related to organizational ethos from the list given below :

(1) Team work 1n the approach

(11) Productivity of the tasks

(1) Changes in the global contents

(iv)  Financial security

(V) Humility in dealing with others’ concerns

(vi)  Technological resources

Choose your answer from the following options :

(1) (1), (1) and (v1)
(2) (1), (1v) and (v)
(3) (11). (111) and (v)
(4) (1), (11) and (v)

Options:

61547523477, 1
61547523478 2
615475234793 2
615475224380 4



Question Number : 45 Question Id : 6154756020 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

W= 31 = T= 4 ° faem =9 9 weTeRs At (Suim) # metia g 1 mem Fifw

(1) M | Ag-a%

(i) A = IEEEAT

(i)  Afvew HvE-—am § =2

(iv)  fa=i= Feem

(v)  =E A TEare & weE T T e

(vi)  TEEITE ,‘_' T TETA

feTiaa fTFeT 8 © 399 =1 =999 Firan

(1) (@), (i) =W (vi)
@ (i), (v) FR (v)
(3) (i), (iii) 37 (iv)
@) (). () AT (v)

Options:

61547523477, 1
61547523478 2
61547522479 2
615475223450, 4

Sub-Section Number: 4
Sub-Section 1d: 615475268
Question Shuffling Allowed : Yes

Question Id : 6154756021 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuesticon Label | Comprehension



Read the passage carefully and answer guestions from 46-50.

The pre-first world war era 1= really in a way well suited for an in-depth evaluation of
popular movements., as they were spontaneous and no more than. marginally affected
intelligentsia 1deologies. objectives or technigues. The limitations of such spontaneity are
fairly clear. Popular movements were directed usually against the immediate Indian
oppressor rather than the distant white superior. and so were often not consciously or
subjectively anti-imperialist. They tended to be fairly widely scattered in both space and
time, and were extremely volatile with different social forms of articulation interpenetrating
and passing over each other with bewildering ease. All this makes 1t rather difficult to accept
without some gualification the concept of Peasant Nationalism’™ as a coherent alternative to
elite patriotic 1declogies and movements, popular imtiative and autonomy were undoubted.
even remarkable at times. but. unlike middle class nationalism which does have certain
continuity. at the level of 1deoclogy at least, from the formulation of the drain of wealth theory
1n the 1870s onwards, the movement that have been considered were clearly fragmented. Yet
despite such limitations and crudities. popular unrest did anticipate much of middle class

nationalism in terms of 1ssues and forms of struggle. while its specific gains were at times

not inconsiderable. Forest rights. the burdens of rent. usury and land revenue. planter

exploitation and labour grievances were all themes taken over by middle class nationalism

later.

Sub questions

Question Number : 46 Question Id : 6154756022 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What does the analysis of pre-first world war popular movements reveal?

(1) Intelligentsia’s influence on popular movement was less
(2) The movements were 1deological
(3) The movements had clear objectives

(4) Limited spontaneity
Options:
6154752234511
61547523482 2
61547523453 2
1547522454, 4

Question Number : 47 Question Id : 6154756023 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The popular movements were

(1) against imperalists (2) against their masters
(3) consciously violent (4) time bound
Options:

61547523485 1
615475234586, 2
E1547523487. 3
E1547523488. 4

Question Number : 48 Question Id : 6154756024 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the passage. the 1ssue with peasant nationaliam was

(1) a viable alternative to elite nationalism
(2) coherence and control

(3) lack of continuity

(4) quite timely

Options:

61547523489, 1
61547523490 2
61547523491 =
61547522492 4

Question Number : 49 Question Id : 6154756025 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The pre-war popular movements were of

(1) uniform social form (2) 1nsignificant value
(3) middle class nationalism (4) specific gain at times
Options:

61547523453 1
615475234394, 2
61547523435 3
E1547523456. 4

Question Number : 50 Question Id : 6154756026 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the author’s assessment of the popular movements?

(1) Some of the popular 1ssues were taken over by middle class nationalism
(2) It was bewildering and amusing
(3) It was remarkable and time-tested
(4) Pre-war popular unrest was anti-imperialist
Options:

B1547523457. 1
615475234598, 2
61547523455 3
61547523500, 4

Question Id : 6154756021 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Label © Comprehension
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Sub questions

Question Number : 46 Question Id : 6154756022 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o a7 I I3 % SARE AR % e gRT 9 e BhT E 7

(1) SR G T TG 1 THTE 90
(2) e d=Tes 9

(3) oSl % w92 32vE 9

(4) HiEd wEsar

Options:

615475234581, 1
61547523482 2
61547522482 =2
E1547522484 4

Question Number : 47 Question Id : 6154756023 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AR A

(1)  =E=ET F g 4 (2) T =t * fawg 9
(3)  FHEIHL =T 9 (4) TEg-sIg 9
Options:

E1547523485. 1
B1547523486. 2
B1547523487. 3
61547523488, 4

Question Number : 48 Question Id : 6154756024 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

SIede & AIHR FF NZAIT HaHl gogr 74 917

() 96 TR 0 Ok S fe (2) AT s FEE
(3)  faadwar Fi == T
Options:

61547523459 1
61547523430, 2
E1547523451. 3
E1547523452. 4

Question Number : 49 Question Id : 6154756025 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-4 AFTE AREH 4,

(3) A=W A TgdE (4) THg wHT 9 e a@m
Options:

61547523453 1
615475234394, 2
61547523435 3
615475234396, 4

Question Number : 50 Question Id : 6154756026 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547523497, 1
61547523498, 2
61547523499 2
61547522500 4

PART II Social Medicine and Corrmnunity Health

Section Id : 61547582
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 92
Number of Questionsto be attempted: 92
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 615475269
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154756027 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following Cereals/Millets 1s richer in lysine?

(1) Wheat (2) DMaize
(3) Rice (4 Jowar
Options:

61547523501, 1
61547523502, 2
E1547523503. 3
E1547523504. 4

Question Number : 51 Question Id : 6154756027 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547523501, 1
E1547523502. 2
E1547523503. 3
61547523504, 4

Question Number : 52 Question Id : 6154756028 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

To be effective communicator one must know all EXCEPT

(1) Clearly defined objective (2) Audience’s interests and needs
(3) Channels of communication (4) Traditional and Folk Media
Options:

61547523505, 1
61547523508, 2
E1547523507. 3
E1547523508. 4

Question Number : 52 Question Id : 6154756028 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547523505. 1
B1547523506. 2
61547523507, 3
61547523508, 4

Question Number : 53 Question Id : 6154756029 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Sewage waste water from community contains

(1) Sohd and hquid excreta from houses

(2) Sohd and liquid excreta from houses. street and vard washing. factories and
industries

(3) Waste water from kitchen and bathrooms

(4) Waste water from kitchen. streets and vard washing



Options:

61547523509, 1
61547523510 2
£1547523511. 2
615475223512, 4

Question Number : 53 Question Id : 6154756029 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =1 =1 38 A7 7 7

(2) =, e, AT AT, HEEE S 3E H Heed aren 2 31T @t 859
(3)  TEE T 3R EH W E fwe aen swhre S|
(4)  THE =3, TeEl AN ATS AR H e aen e 59

Options:

61547523509, 1
61547523510 2
615475223511,
61547523512 4

Question Number : 54 Question Id : 6154756030 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Humidity 1s measured by

(1) Dry and wet bulb hygrometer (2) Barometer
(3) Dry globe thermometer (4) Wet globe thermometer
Options:

615475235131
61547523514, 2
61547523515 3
E1547523516. 4

Question Number : 54 Question Id : 6154756030 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
615475235131

E1547523514. 2
E1547523515. 3
61547523516, 4

Question Number : 55 Question Id : 6154756031 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Acceptable noise level 1n the office 1s

(1) 15— 30 dBA (2) 35-—45dBA
(3) 50— 55dBA (4) 60-65dBA
Options:

B1547523517. 1
61547523518, 2
615475235149, 3
61547523520, 4

Question Number : 55 Question Id : 6154756031 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FEEE § = EE A T

(1) 15-30 S (2) 35-45 SiEfio
(3) 50-55 =i (4) 60-65 =HEMT
Options:

61547523517, 1
61547523518, 2
E1547523519. 3
B1547523520. 4

Question Number : 56 Question Id : 6154756032 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Mass approach in Health Communication includes all EXCEPT

(1) Radio (2 TV
(3) Lectures (4) Folk methods
Options:

615475235211
E1547523522. 2
E1547523523. 3
B1547523524. 4

Question Number : 56 Question Id : 6154756032 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547523521, 1
BE1547523522. 2
B1547523523. 3
B1547523524. 4

Question Number : 57 Question Id : 6154756033 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Matech List-T with Last-IT

ILast I
(Committee)
(a) Bhore Committee (1)
(b) Chadah Committee (11)
(¢) Jungalwala Committee (111)
(d) EKartar Singh Committee (1v)

Choose the correct option from those given below :

(1 (a)-Q). (b)-(1). (c)-(i11), (d)-Gv)
(2)  (a)-(i). (b)-(id). (e)-Gv). (d)-@)
(3)  (a)-(m), (b)-v). (c)-(1), (d)-(11)
4 (@)-av). (b)-(1). (c)-(1). (d)-(i11)

Options:
E1547523525. 1

E1547523526. 2
B1547523527. 3
B1547523528. 4

List IT
(Recommendation)

3 months training in preventive and
soclal medicine

Malaria workers to look after family
planning

No private practice

Creation of male and female
Supervisors

Question Number : 57 Question Id : 6154756033 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
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(a)

(b)
(c)
(d)

= 52 T TaeT O o Hel fSEed w1 =99 i

(1)
(2)
(3)
(4)

Options:

o1 (=)

g1 |

(a)-(1). (b)-(11). (c)-(1m). (d)-(1v)
(a)-(11). (b)-(111). (c)-(1v). (d)-(1)
(a)-(111). (b)-(1v). (e)-(1). (d)-(11)
{a)-(1v). (b)-(1). (c}-(11). (d)-(111)

B1547523525. 1
B1547523526. 2
B1547523527. 3
61547523528, 4

(1)

{11)

Fet-11 (i)

TirEoy

(i) = Fsht dfvea =
(iv) 99 3R =i geaEsR i e

Question Number : 58 Question Id : 6154756034 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Immediate somatic effect of radiation is

(1)
(3)

Options:

Leukemia

Chromosomal mutation

BE1547523529. 1
61547523530, 2
61547523521, 3
E154752353%2. 4

{(2)
(4}

Foetal developmental deformities

Radiation sickness

Question Number : 58 Question Id : 6154756034 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)
(3)

Options:

615475235291



B1547523530. 2
61547523521, 3
61547523532, 4

Question Number : 59 Question Id : 6154756035 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Double blinding in Randomized Control Trial prevents

(1) Selection bias (2) Obsgerver bias
{3) Enown confounders (4) Unknown confounders
Options:

51547523533, 1
61547523524, 2
61547523535, 3
E1547523536. 4

Question Number : 59 Question Id : 6154756035 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475235331
61547523534, 2
E1547523535. 3
E1547523536. 4

Question Number : 60 Question Id : 6154756036 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The denominator in Maternal Mortality Ratio 1s

(1) Total number of women of reproductive age group in the same area and same year
(2) Total number of pregnant women in the same area and same year
(3) Total number of live births 1n the same area and same year

(4) Total deaths among women aged 15—49 vears

Options:
E1547523537. 1

B1547523538. 2
B1547523539. 3
61547523540, 4



Question Number : 60 Question Id : 6154756036 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547523537, 1
61547523538 2
61547523539 2
E1547523540 4

Question Number : 61 Question Id : 6154756037 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a village with 180 eligible couples. family planning data of contraceptive use for the year
of 2017 1s

Vasectomy - 15. Tubectomy — 15
IUD users - 8. Oral Contraceptive pill users — 15
Condom users - 7

What 1s the couple protection rate 1n that village?

(1) 10% (2) 2b%
(3)  33% (4) 66%
Options:

E1547523541. 1
B1547523542. 2
61547523543, 3
61547523544, 4

Question Number : 61 Question Id : 6154756037 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1)  10% (2) 25%
(3)  33% 4) 66%

Options:

61547523541,
61547523542,
61547523543,
61547523544,

[ N

Question Number : 62 Question Id : 6154756038 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

All of the following are attributes of an ideal candidate for IUD (Intra-Uterine Device)
EXCEPT

(1) Has at least one child (2) Monogamous relationship
(3) Has no access to follow-up (4) No history of pelvic inflamatory disease
Options:

61547523545 1
E154752354E. 2
B1547523547. 3
61547523548, 4

Question Number : 62 Question Id : 6154756038 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547523545 1
E1547523546 2
615475223547, o
61547522548, 4

Question Number : 63 Question Id : 6154756039 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following diseases 1s not included under IMNCI (Integrated Management of
Childhood and Neonatal Illness ?

(1) Malarma (2) DMeasles
(3) Acute Respiratory Tract Infection (4y Tetanus
Options:

BE15475235459. 1
61547523550, 2
61547523551, 3
61547523552, 4

Question Number : 63 Question Id : 6154756039 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  #=fEn (2) w@ET
(3) A Fel § FeAaE T (4) e
Options:

E15475235459. 1
E1547523550. 2
61547523551, 3
61547523552, 4

Question Number : 64 Question Id : 6154756040 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1s not a demographic indicator?

(1) Fertility (2) Mortality
(3) Social mobility (4) Morbidity
Options:

51547523553, 1
61547523554, 2
61547523555 3
E1547523556. 4

Question Number : 64 Question Id : 6154756040 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547523553, 1
61547523554 2
61547523555 2
61547523556 4

Question Number : 65 Question Id : 6154756041 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Emponatrics deals with the health of

(1) Farmers (2) Travellers
(3) Industrial workers (4) Mine workers
Options:

61547523557, 1
61547523558, 2
61547523559, 3
E1547523560. 4

Question Number : 65 Question Id : 6154756041 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547523557, 1
61547523558 2

615475235549, 3
61547523560, 4

Question Number : 66 Question Id : 6154756042 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the recommended population for primary health center and subcenter for hilly and
tribal area respectively?

(1) 30.000 and 5.000
(2) 20.000 and 3.000
(3) 30.000 and 3.000
(4) 20.000 and 5.000
Options:
61547523561 1
E1547523562. 2
E1547Y523563. 3
61547523564 4

Question Number : 66 Question Id : 6154756042 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 30,000 =1 5.000
(2) 20,000 =1 3.000
(3) 30,000 = 3.000
(4) 20,000 = 5,000

Options:

615475235611
61547523562, 2
61547523562, 5
61547523564 4

Question Number : 67 Question Id : 6154756043 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following WHO publication 1= more relevant to survelllance reporting system?

(1) Technical Report Series (2) Weekly Epidemnmological Report
(3) WHO bulletin (4) WHO Fact Sheet
Options:

61547523565, 1
61547523566, 2
E1547523567. 3
E1547523568. 4

Question Number : 67 Question Id : 6154756043 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T3, F Tefaigd TEEE 8 @ #2991 gweE e afeEg sl (afe foid feem) =
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Options:

61547523565, 1
61547523566, 2
E1547523567. 3
E1547523568. 4

Question Number : 68 Question Id : 6154756044 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 13 NOT the element of primary health care?

(1) Provision of essential drugs
(2) Sound referral system
(3) An adequate supply of safe water and basic samitation
(4) Promotion of food supply and proper nutrition
Options:

E1547523569. 1
B1547523570. 2
B1547523571. 3
B1547523572. 4

Question Number : 68 Question Id : 6154756044 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547523569, 1
61547523570 2

61547523571, 3
BE1547523572. 4

Question Number : 69 Question Id : 6154756045 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

As per National Health Policy 2017, State sector health spending shall be increased to more

than % of thewr budget by vear 2020,
(1) 4 (2) 6
(3) 8 (4) 10
Options:

615475235731
61547523574, 2
E1547523575. 3
BE1547523576. 4

Question Number : 69 Question Id : 6154756045 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 4 () 6
(3) 8 (4) 10
Options:

B1547523573. 1
B1547523574. 2
61547523575 3
61547523576, 4

Question Number : 70 Question Id : 6154756046 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



i

Which of the following committee defined “Integrated Health Services™

(1) Jungalwalla Committee (2) Kartar Singh Committee
(3) Shrivastav Committee {4) Bhore Committee
Options:

61547523577, 1
E1547523578. 2
BE1547523579. 3
61547523580, 4

Question Number : 70 Question Id : 6154756046 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fr=rfetaa | = feg =ity 9 o= = g =1 ey

(1)  ProaEn |JHd (2) Faw 47 g6
(3)  Evma mmE (4) W1 "EE
Options:

61547523577, 1
61547523578, 2
E1547523579. 3
E1547523580. 4

Question Number : 71 Question Id : 6154756047 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“A sequence of activities designed to 1implement policies and accomplish objectives” 1s termed

as
(1) Programme (2) Schedule
(3) Aim (4) Target
Options:

61547523581, 1
61547523582, 2
E1547523583. 3
E1547523584. 4

Question Number : 71 Question Id : 6154756047 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547523581. 1
B1547523582. 2
61547523583, 3
61547523584, 4

Question Number : 72 Question Id : 6154756048 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Matech List-I with TLast-IT

Last I List IT
(Tvpe of IUD) (Effective Life Span)
(a) Cu-T 200 (1) 10 years
(b) Progestasert (1) b5 vears
(c) Nova-T (1) 1 year
(d) Cu-T 380 (1v) 4 years

Choose the correct option from those given below :

(1) (a)-(1), (b)-(11), (c)-(111). (d)-(1v)
(2} {a)'{i}! {b'}'{iv}! (c}'{iii}. {d}'{jj}
(3) (a)-(1), (b)-(111), (c)-(11), (d)-(1v)
(4)  (a)-(v). (b)-(iid). (¢)-(id). (d)-@)

Options:

15475235851

1547523586 2

E1547523587. 3
E1547523588. 4

Question Number : 72 Question Id : 6154756048 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(2) (a)-(1). (h)-(1v). (c)-(111). (d)-(11)
(3) (a)-(1), (b)-(n1). (c)-(11). (d)-(1v)
(4) (a)-(1v). (b)-(111). (e)-(11). (d)-(1)

Options:

£1547523E585. 1

51547523586, 2

1547523587, 3

51547523588, 4

Question Number : 73 Question Id : 6154756049 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Mr. “X” was diagnosed as a bacteriologically confirmed TB case and was started with
appropriate drug regimen under DOTS. After 3 weeks of starting treatment. he stopped the
therapy due to various side effects. After 2 months of leaving treatment. he revisited the
hospital for same disease. According to RNTCP guidelines, Mr. X shall be classified at that

point of time as

(1) Previously treated patient (2) Treatment after failure
(3) Relapse (4) New patient
Options:

B1547523589. 1
615475235380, 2
615475235381, 3
61547523592, 4

Question Number : 73 Question Id : 6154756049 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547523589, 1
615475235380, 2
615475235391, 3
615475235392, 4

Question Number : 74 Question Id : 6154756050 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which 1s the most common site for the persistence of organisms in most of the chronic

carriers of enteric fever?

(1) Duodenum {(2) (all bladder
(3) Rectum (4) Sigmoid colon
Options:

E1547523583. 1
B1547523594. 2
B15475235595. 3
615475235596, 4

Question Number : 74 Question Id : 6154756050 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

BE15475235593. 1
61547523554, 2
61547523585 3
E1547523596. 4



Question Number : 75 Question Id : 6154756051 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“CYD — TDV” 1s a live attenuated vaccine, which protects against

(1) Malaria (2) Dengue
(3) Japanese encephalitis (4) Chikungunva
Options:

615475235397, 1
61547523598, 2
E15475235590. 3
E1547523600. 4

Question Number : 75 Question Id : 6154756051 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547523597. 1
E1547523598. 2
615475235595, 3
61547523600, 4

Question Number : 76 Question Id : 6154756052 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Choose the correct statement regarding recommendation for short term chemoprophylaxis

for malaria from below

(1) Dosing schedule for the children should be based on their age

(2) Antimalarials that have to be taken daily shall be started one week before arrival in
risk area

(3) Weekly chloroquine shall be started one week before arrival in risk area

(4) Weekly mefloquine shall preferably be started 4 weeks before departure towards risk

darea

Options:
61547523601, 1

E1547523602. 2
E1547523603. 3



E1547523604. 4

Question Number : 76 Question Id : 6154756052 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547523601, 1
61547523602 2
615475226032 2
61547522604, 4

Question Number : 77 Question Id : 6154756053 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which category 1s applicable to the States/UTs with Annual Parasite Incidence (API) = 1 as
per classification for Malaria Elimination in India (2014)7?

(1) Pre-elimination phase (2)  Ehmination phase
(3) Prevention of re-establishment phase (4) Intensified control phase
Options:

E1547523605. 1
E1547523606. 2
B15475236807. 3
615475236808, 4

Question Number : 77 Question Id : 6154756053 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547523605. 1
E1547523606. 2
B15475236807. 3



E1547523608. 4

Question Number : 78 Question Id : 6154756054 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following disease requires “DASH™ dietary approach 1n its management?

(1) Hypertension (2) Diabetes
(3) Obesity (4) Malnutrition
Options:

61547523605, 1
61547523610, 2
61547523611, 3
E1547523612. 4

Question Number : 78 Question Id : 6154756054 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547523605, 1
61547523610, 2
61547523611, 3
E1547523612. 4

Question Number : 79 Question Id : 6154756055 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

For which of the following disease. direct beneficiary transfer system 1s being established?

(1) Tuberculosis (2) Filariasis
(3) Measles (4) Polio
Options:

615475236131
61547523614, 2
61547523615 3
61547523616, 4

Question Number : 79 Question Id : 6154756055 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475236131
61547523614, 2
E1547523615. 3
E1547523616. 4

Question Number : 80 Question Id : 6154756056 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following 1= true for measles catch-up campaign?

(1) The target age-group 1s 9 months — 5 yrs

(2) Two doses of measles vaccine are given

(3) Vaccine 1s given to only un-immunised children

(4) Must immunise nearly 100% of target age group
Options:

61547523617, 1
E15475236158. 2
E1547523619. 3
B1547523620. 4

Question Number : 80 Question Id : 6154756056 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475236171
615475226158, 2
61547522619, 5
61547523620 4

Question Number : 81 Question Id : 6154756057 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following 1s an example of disaster mitigation?

(1) Increase the residual chlorine level to 0.2-0.5 mg/lit 1n drinking water

(2) Improve the structural quahty of homes. schools and other public and private
buildings
(3) Evaluate the msk of particular region to disaster
(4) Organise the disaster simulation exercise regularly
Options:

61547523621, 1
E1547523622. 2
B1547523623. 3
B1547523624. 4

Question Number : 81 Question Id : 6154756057 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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Options:

61547523621, 1
E1547523622. 2
E1547522822. 2
1547522624, 4

Question Number : 82 Question Id : 6154756058 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following occupational cancer 1s commonly caused by Aromatic amines?

(1) Ca. Lung (2) Ca. Bladder
(3) Ca. Skin (4) Leukema
Options:

B1547523625. 1
B1547523626. 2
E1547523627. 3
61547523628, 4

Question Number : 82 Question Id : 6154756058 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

61547523625 1
E1547523626. 2
B1547523627. 3
B1547523628. 4

Question Number : 83 Question Id : 6154756059 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Periodical examination of workers working 1n lead industry 1s an example of
prevention.

(1) Primordial (2) Primary
(3) Secondary (4) Tertiary
Options:

B1547523629. 1
61547523630, 2
61547523621, 3
61547523632, 4

Question Number : 83 Question Id : 6154756059 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  gH=E (TEEieas) (2) wHtaE (TTEE)
(3) T (mEsti) (4) TAEF (FEI)

Options:

BE1547523629. 1
B1547523630. 2
61547523631, 3
E154752363%2. 4

Question Number : 84 Question Id : 6154756060 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s the suggested frequency of periodical examination in industries dealing with lead?

(1) Daily (2) Monthly
(3) Biannually (4) Yearly
Options:

61547523632, 1
E1547523634. 2
E1547523635. 3
B1547523636. 4

Question Number : 84 Question Id : 6154756060 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

i 6 = © TS T A sAEta S o g T S 2 e

(1) T (2) wiEE
(3) FIHIEW (4) ufa =
Options:

61547523633, 1
61547523634, 2
E1547523635. 3
E1547523636. 4

Question Number : 85 Question Id : 6154756061 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Cohen’s Kappa 1s a measure of

(1) Precision (2) Rehabihity
(3) Degree of agreement (4) Degree of freedom
Options:

61547523637, 1
E1547523638. 2
61547523639, 3
E1547523640. 4

Question Number : 85 Question Id : 6154756061 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



B1547523637. 1
61547523638, 2
B1547523639. 3
61547523640, 4

Question Number : 86 Question Id : 6154756062 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Prevention of clinical symptoms by admimstration of drugs. not necessarily elimination of
infection 1z known as

(1) Causal prophyvlaxis (2) Chnical prophyvlaxis
(3) Subeclinical prophyvlaxis (4) Presumptive treatment
Options:

E1547523641. 1
E1547523642. 2
B1547523643. 3
61547523644, 4

Question Number : 86 Question Id : 6154756062 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547523641, 1
61547523642 2
615475226432 2
E15475226844 4

Question Number : 87 Question Id : 6154756063 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Total number of deaths due to particular disease represented as a percentage of total
number of cases due to same disease 1s defined by the term

(1) Proportional mortality rate (2) Ihsease specific mortality rate
(3) Case fatality rate (4) Standardised mortality rate
Options:

E1547523645. 1
E154752364E. 2



E1547523647. 3
61547523648, 4

Question Number : 87 Question Id : 6154756063 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547523645 1
61547523646, 2
E1547523647. 3
E1547523648. 4

Question Number : 88 Question Id : 6154756064 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Estimation of value of one variable from value of another 1s provided by

(1) Regression coefficient (2) Correlation coefficient
(3) Degrees of freedom (4) Coefficient of variation
Options:

615475236459 1
61547523650, 2
61547523651, 3
E1547523652. 4

Question Number : 88 Question Id : 6154756064 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) Tt T (2) U= TEY T
(3)  T=EIEAT T AW (4) o= T
Options:

61547523649 1
61547523650, 2
61547523651, 3
E1547523652. 4



Question Number : 89 Question Id : 6154756065 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Evaluation of screening program 1s best one by

(1) Case control study (2) Cohort study
(3) Uncontrolled trial (4) Randomised control tral
Options:

61547523652, 1
E1547523654. 2
E1547523655. 3
B1547523656. 4

Question Number : 89 Question Id : 6154756065 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547523653, 1
61547523654, 2
E1547523655. 3
E1547523656. 4

Question Number : 90 Question Id : 6154756066 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Accrediated Social Health Activist (ASHA) 1s present at

(1) Village level (2) Sub center
(3) Primary Health Centre (PHC) (4) Commumty Health Centre (CHC)
Options:

BE1547523657. 1
61547523658, 2
61547523659, 3
61547523660, 4

Question Number : 90 Question Id : 6154756066 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1) o &= W (2) STz H
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Options:

BE1547523657. 1
E1547523658. 2
B1547523659. 3
B1547523660. 4

Question Number : 91 Question Id : 6154756067 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following are included in temporary social groups?

{a) The herd
(b The band
{c) The mob

(d) The crowd

Choose the most appropriate option :

(1) (c) and (d) (2) (a). (c) and (d)
(3) (b). (c) and (d) (4) (a). (b) and (d)
Options:

B1547523661. 1
B15475236862. 2
61547523663, 3
61547523664, 4

Question Number : 91 Question Id : 6154756067 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) FUS
(b) @ (%)
(c)  Wraa= i (HiE)

(&)

(dy 413 (F133)

(1) (c) =1 (d) (2) (). (c) 377 (d)
(3) (b). (¢) 311 (d) (4) (a). (b) 3T (d)
Options:

61547523661, 1
E1547523662. 2
E15475236E3. 3



E1547523664. 4

Question Number : 92 Question Id : 6154756068 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Reasons for low income country like Srilanka achieving health for all include

(a) High doctor : population ratio of 1 : 1000

(b) Equitable access to public health care provisions
(c) Equitable access to public education
(d) Adeguate nutrition at all levels of society

Choose the correct option :

(1) (a) and (b) (2) (a). (b) and (d)
(3) (b) and (d) (4) (b). (c) and (d)
Options:

B1547523665. 1
B15475236866. 2
E1547523667. 3
61547523668, 4

Question Number : 92 Question Id : 6154756068 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (a) #X (b) (2) (a). (b) 31 (d)

(3) (b)) F (D (4) (b). (c) = (d)
Options:

E1547523665. 1
E154752366E6. 2
E1547523667. 3
B1547523668. 4

Question Number : 93 Question Id : 6154756069 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The decision to change cut off for a blood parameter for diagnosis of disease X from 126 mg%
to 116% will result in an increase in

(a) Sensitivity

(b) Specificity

(c) False positives

(d) Yield

Choose the correct option :

(1) (a) and (b) (2) (e)and (d)

(3) (a) and (c) (4) (b)and (d)
Options:

61547523669, 1
E1547523670. 2
B1547523671. 3
B1547523672. 4

Question Number : 93 Question Id : 6154756069 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

X T FEE F 90 TF 5Fesl F w2-31F 126 me F uiag w116 me% T F FvE F1 gty

et % = e gig % =v 8 =

(a) LoD

(h) EIEEG

() TMedd ‘ﬁﬁl‘ﬁﬂ

(d) =g

T2 [a%eg =1 =99 Firan

(1)  (a) 31 (b) (2)  (c) 317 (d)
(3)  (a) F (¢) (4) (b) W (d)
Options:

E1547523669. 1
B1547523670. 2
B1547523671. 3
B1547523672. 4

Question Number : 94 Question Id : 6154756070 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When same screening test is repeated 1n all who test positives first time, there will be

(a) An increase 1n sensitivity

(b) A decrease 1n specificity

(c) An increase 1n positive predictive value
(d) A decrease 1n negative predictive value

Choose the correct option :

(1) (a) and (b) (2) (c) and (d)
(3)  (a) and (c) (4) (b) and (d)
Options:

61547523673 1
E1547523674. 2
E1547523675. 3
B1547523676. 4

Question Number : 94 Question Id : 6154756070 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (a) 3T (b) (2)  (c) 3 (d)
(3) (a) 3 (c) (4) (b) 3 (d)
Options:

E1547523673. 1
E1547523674. 2
B1547523675. 3
G1547523676. 4

Question Number : 95 Question Id : 6154756071 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Requirements of Health Information System 1dentified by WHO expert committee are

(a) should 1include comprehensive health related data
(b) should have medical records of population
(c) should be community based

(d) should provide feedback of data
Choose the correct option :

(1) (a) and (b) (2) (c) and (d)
(3) (a) and (c) (4) (b) and (d)



Options:

61547523677, 1
1547522678 2
E1547522679. 2
61547522680 4

Question Number : 95 Question Id : 6154756071 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correc_:t Marks:fz Wroqg Marks: 0 , o o
(b) =O T ST % TaiReAg e = =nen
(c) =8 THeE @it =T =@y
(d)  =H HAES! = FISEE UEE W =@

T2l faFea =1 999 Fieo

(1)  (a) = (b) (2)  (c) F1 (d)

(3) (a) #R (c) (4) (b) ¥ (d)
Options:

E1547523677. 1
B1547523678. 2
B1547523675. 3
61547523680, 4

Question Number : 96 Question Id : 6154756072 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Diseases commonly reported to have peak in early spring are
(a) Measles
(b) Varcelle
(c) Diphtheria
(d) Meningococeal Meningitis

Choose the most appropriate option :

(1) (a). (b) and (d) (2) (a). (b) and (c)
(3) (a) and (b) (4) (b) and (d)
Options:

61547523681, 1
61547523682, 2
E1547523683. 3
B1547523684. 4

Question Number : 96 Question Id : 6154756072 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



IEATE 984 H "t =H 9 T 8

(a) =

(b)  AfFE=

ic) ﬁﬁm

(d) T HEAEES
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(1) (a). (b) # (d) (2)  (a). (b) T ()
(3)  (a) 3 (b) (4)  (b) #=F (d)
Options:

61547523681, 1
61547523682, 2
E1547523683. 3
61547523654, 4

Question Number : 97 Question Id : 6154756073 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fever 1s not a common adverse event in immumnisation with following vaccines
(a) BCG

(b) Hepatitis B Vaccine

(c) IPV

(d) Measles vaccine

Choose the most appropriate option :

(1) (a) and (b) (2) (a)and (c)
(3) (b) and (d) (4) (a). (b) and (c)
Options:

51547523685, 1
E1547523686. 2
61547523687, 3
E1547523688. 4

Question Number : 97 Question Id : 6154756073 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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(3)  (b) 3 (d) 4) (). (b) = (c)



Options:

61547523685, 1
1547523686 2
E1547522887. 2
61547522688, 4

Question Number : 98 Question Id : 6154756074 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Severely Acute Malnutrition (SAM) 1= defined as

(a) Weight for height/length — below 3 SD
(b) Weight for age — below 3 SD
(c) Bilateral pitting ocedema

{d) Mid-arm circumference — less than 12.5cm

Choose the correct answer from the codes given helow :

(1) {a) and (b} are correct (2) (a) and (c) are correct
(3) (b) and (c) are correct (4) (b) and (d) are correct
Options:

E1547523689. 1
E1547523630. 2
615475236831, 3
G1547523639%2. 4

Question Number : 98 Question Id : 6154756074 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
e Fraer 1 =9 4 gftariea e 2 7
(a) =92 F foU F99-3 5 fo=eE O FE
(b) A F T99-3 TFF fa=ed § FH
(c)  Tgmodim mfenm sfem
(d) =% = "exy fifg 12.5 T 9 +9

Hel Taehed =1 =99 Hifa

(1) (a) 317 (b) F& % (2) (a) #AW (c) T= &
(3)  (b) # ()T 7 (4) (b) = (d)TH 2
Options:

B1547523689. 1
615475236830, 2
61547523631, 3
61547523632, 4

Question Number : 99 Question Id : 6154756075 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following vaccines are covered under open-vial policy?
(a) Hepatitis B vaccine

(b) Oral polio vaccine

(c) BCG

(d) Measles

Choose the correct answer from the codes given below :

(1) (a) and (b) are correct (2) (a) and (c) are correct
(3) (b) and (c) are correct (4) (c)and (d) are correct
Options:

615475236392, 1
E15475236394. 2
E15475236395. 3
B15475236836. 4

Question Number : 99 Question Id : 6154756075 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ffatEd 9 & F9-7 JFF AA-TE G 5 ST E 2 7
(a) T i AwEA
(b)  itel Wiferdl duEE
(c) 1. =115,
(d)  EHT FI I
el faFe=g =1 =537 Fifae

(1) () %0 (b) W& = (2)  (a) ¥R (c) 7 3
(3) () 3 (c) 7E & (4) (c) 31 (d) 7F1 #
Options:

61547523653, 1
615475236394, 2
E1547523635. 3
E1547523656. 4

Question Number : 100 Question Id : 6154756076 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following are the criteria for identifving 'at risk infants' in a child health elime?
(a) Birth weight less than 2.8 kg
(b) Children with single parent
(c) Working mother
(d) Weight below 80% of the expected weight
Choose the correct answer from the codes given helow :

(1) {a) and (d) are correct (2) (h) and (c) are correct
(3) {a) and (c) are correct (4) (b) and (d) are correct



Options:

61547523697, 1
61547522698 2
E1547522899 2
61547522700, 4

Question Number : 100 Question Id : 6154756076 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e FA fFatF 7 e o e F AtaEan % o 5 aees e
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(d)  weETEE F99 ° 80% FH F9
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(1) (a) @7 (d) &l & (2) (b) 3 (c) T=
(3) (a) ¥ (c) =l & (4) (b) ¥R (d) == 7
Options:

615475236397, 1
61547523638, 2
E1547523659%0. 3
B1547523700. 4

Question Number : 101 Question Id : 6154756077 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following diseases are included in internationally notifiable for all countries

according to International Health Regulation?
(a) Cholera

(b) Plague

(c) TB

(d) Typhoid

Choose the correct answer from the codes given below :

(1) {a) and (c) are correct (2) (b) and (c) are correct

(3) (b) and (d) are correct (4) (a) and (b) are correct
Options:

615475237011
E1547523702. 2
61547523703, 3
E1547523704. 4

Question Number : 101 Question Id : 6154756077 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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(c) 21 & (d) ZEFES

e e
el Td=hed =/ T94 BT :

D Wk EwE OINCE ST
Options:

E1547523701. 1
B1547523702. 2
61547523703, 3
61547523704, 4

Question Number : 102 Question 1d : 6154756078 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Which of the following are the job of health worker male?

(a) Growth monitoring (b) Post natal wvisits

(c) Sputum collection (d) Enwvironmental sanitation

Choose the correct answer from the codes given below :

(1) (a) and (d) are correct (2) (b) and (c) are correct
(3) (a) and (b) are correct (4) (c) and (d) are correct
Options:

615475237051
E1547523706. 2
B1547523707. 3
B1547523708. 4

Question Number : 102 Question Id : 6154756078 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547523705, 1
1547522706 2
E1547522707. 2
61547522708, 4

Question Number : 103 Question Id : 6154756079 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are true regarding herd immunity?

(a) It refers to group protection beyond protection of immunized individuals

(b) Only 100% vaccination allows the possibility of herd immunity against a disease
(c) It 1= affected by presence of alternate animal host

(d) It does not protect the individual in case of tetanus

Choose the correct answer from the codes given below :

(1) (a) and (b) are correct (2) (b) and (c) are correct
(3) {a) and (c) are correct (4) (c)and (d) are correct
Options:

615475237091
61547523710, 2
E1547523711. 3
B1547523712. 4

Question Number : 103 Question Id ;: 6154756079 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  (a) # (b) =71 & @ (b 3k @5
(3) (a) HIT (c) @A 7 @ (@ 3R (@ Fh P
Options:

61547523709, 1
61547523710, 2
B1547523711. 3
B1547523712. 4

Question Number : 104 Question Id : 6154756080 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following are important modes of transmission of pohomyelitis?

{(a) Faecal - oral
(b) Biological
(c) Vertical

(d) Air borne

Choose the correct option :

(1) (a) and (d) are correct (2) (b) and (c) are correct
(3) (a) and (c) are correct (4) (b) and (d) are correct
Options:

615475237131
E1547523714. 2
B1547523715. 3
B1547523716. 4

Question Number : 104 Question Id : 6154756080 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475237121
61547523714, 2
E1547523715. 3
B1547523716. 4

Question Number : 105 Question Id ;: 6154756081 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are vectors of Brugian filaria?
(a) Coquillettidia

(b) Aedes

(c) Mansonia

(d) Culex

Choose the correct option :

(1) (a) and (d) are correct (2) (b) and (c) are correct

(3) (a) and (c) are correct (4) (b) and (d) are correct
Options:

B1547523717. 1
61547523718, 2



E1547523718. 3
B1547523720. 4

Question Number : 105 Question Id ;: 6154756081 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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3) () 3R ()7l & (4) (b) 3i% (d) =F ¥
Options:

615475237171
61547523718, 2
61547523719, 3
E1547523720. 4

Question Number : 106 Question Id : 6154756082 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following statements are true for Road Traffic Accidents?

(a) Road traffic fatalities rate 1s higher 1n vounger age group

(b) Nearly half of those dyving on roads are vulnerable road users hike pedestrians. cyclists
and motor cyclists

(c) From a voung age. females are more likely to be involved in road traffic crashes than
males

(d) More than 90% deaths resulting from road traffic accidents occur in low and maddle
Income countries

Choose the correct option :

(1) (a). (b) and (c) are correct (2) (b). (c) and (d) are correct
(3) (a). (c) and (d) are correct (4) (a). (b) and (d) are correct
Options: - - -. | -

B1547523721. 1
B1547523722 2
E1547523723. 3
61547523724, 4

Question Number : 106 Question Id : 6154756082 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TSF TAMAWE FHIAIA F HaG 7 AR § H FBE-H w0 75 A7

(@) A 3 T T ° TEF AGEE Jog T AGE
(b)  TSHI W WA STAl § T TN AT AN HSF W g el 99T U2 A, gl s gt
(c) 9 39 i Aieenan il THA A g1 °§ TSF AAEE A H WA wF il HAEAT A7 2

Y
L)

(d)  T=F TAEW g ° 2F dret 90% ¥ A9 Hid #9317 959 A9 91l 290 ° w5l A
HET TeeheT ] F99 HITa0

(1)  (a). (b) 37 () 741 & (@) (b). (o) 3 (d) TH 3
(3) (@) (c) ¥ (d) 77 & @ (a), (b) 5 (@ FF F
Options:

61547523721, 1
B1547523722. 2
B1547523723. 3
B1547523724. 4

Question Number : 107 Question Id ;: 6154756083 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following are well known risk factors for Breast Cancer?
(a) at early age full term pregnancy

(b) early menarche
(c) higher =socio economic group
(d) early menopause

Choose the correct option :

(1) {a) and (c) are correct (2) (b) and (c) are correct
(3) (c) and (d) are correct (4) (d) and (b) are correct
Options:

615475237251
E1547523726. 2
E1547523727. 3
B1547523728. 4

Question Number : 107 Question Id : 6154756083 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475237251
G1547523726. 2
E1547523727. 3
B1547523728. 4

Question Number : 108 Question Id : 6154756084 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following steps are recommended 1n First Aid for Burns?
(a) Stop the burning process by removing clothing and irrigating the burns
(b) Apply the ice on burns till the time patient reaches to the health facility

(c) Wrap the patient in a clean cloth or sheet and transport to nearest health facility
(d) Use cool running water to reduce the temperature of burn

Choose the correct option :

(1) {(a). (b) and (c) are correct (2) (b). (c) and (d) are correct
(3) (a). (b) and (d) are correct (4) (a). (c) and (d) are correct
Options:

B1547523729.1
B1547523730. 2
B1547523731. 3
B154752373%. 4

Question Number : 108 Question 1d : 6154756084 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3)  (a). (b) 37 (d) 7F (4) (). (c) ¥R (d) TF &
Options:

B1547523729.1
B1547523730. 2
B1547523731. 3
B1547523732. 4

Question Number : 109 Question Id : 6154756085 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following are “Health System” indicators of National Urban Health Mission?
(a) Number of Mahila Arogva Samiti (MAS) members trained

(h) Number of deliveries conducted at public health facilities

(c) MNumber of ASHAs selected

(d) Number of ANMSs recruited

Choose the correct option :

(1) (a) and (c) are correct (2) (b) and (d) are correct
(3) (a) and (d) are correct (4) (a) and (b) are correct
Options:

615475237331
61547523734, 2
E1547523735. 3
E1547523736. 4

Question Number : 109 Question Id : 6154756085 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547523733. 1
61547523734 2
61547523735 3
615475237356, 4

Question Number : 110 Question Id : 6154756086 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following are true for Special New Born Care Unit (SNCU)?

(a) Assisted ventilatory care facilities are available
(b) Exists at facilities with more than 3000 deliveries per vear
(c) Surgical facilities for congenital defects
(d) Minimum recommended number of bed for an SNCU at district hospital 1s 12
Choose the correct option :
(1) (a) and (b) are correct (2) (a) and (c) are correct
(3) (b) and (d) are correct (4) (b) and (c) are correct
Options:

E1547523737. 1
E1547523738. 2
B1547523739. 3
B1547523740. 4

Question Number : 110 Question Id : 6154756086 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475237371
61547523738, 2
61547523739, 3
B1547523740. 4

Question Number : 111 Question Id : 6154756087 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Target population for screening for diabetes includes following high risk groups

(a) Women with excessive welght gain 1n pregnancy
(b) Obesity 1n siblings

(c) Patients with premature atherosclerosis

(d) Patients with premature cataract

Correct option :

(1) {a) and (b) (2)  (b) and (c)
(3) (a) and (c) (4) (b)and (d)
Options:

B1547523741. 1
B1547523742 2
61547523743 3
61547523744, 4

Question Number : 111 Question Id : 6154756087 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TeHz il Tentm = fov afem e 3 Fefafea == wifgs Tt 998 ofi= 2
(a)  TTHIEEN H A 9 U A JTe] AiEen

(b)  TEIET WIZH /SEAT H A

(c)  WieEed ¥ yd UsTiiehen Ed e U

(d) e ¥ 94 wifganes ¥ 75 1

HET Taehed = =99 hiran

(1)  (a) 3 (b) (2) (b) #AF (c)

(3)  (a) F (c) (4)  (b) #T (d)
Options:

615475237411
E1547523742. 2
B1547523743. 3
B1547523744. 4

Question Number : 112 Question Id : 6154756088 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following are examples of organo-phosphorus insecticides?

(a) Malathion

{:b} Lindane

(c) Abate

(d) Propoxur

Options :

(1) (a) and (b) are correct (2) (b) and (c¢) are correct

(3) (b) and (d) are correct (4) (a) and (c) are correct
Options:

615475237451
61547523746 2
E1547523747. 3
E1547523748. 4

Question Number : 112 Question Id ;: 6154756088 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HefelEd § 3 F9-0 AFEHEREE AT 5 S A 7
(a)  TEATFAH (b) Tor=A
(© ¥ (d) iR

el o 1 =999 hifA0

(1) (a) =1 (b) =& 7 (2)  (b) 3 (¢) TH 2
(3) (b) ¥W (d)=F (4) (a) 37 (o) TF1 2

Options:



BE1547523745. 1
B1547523746. 2
B1547523747. 3
61547523748, 4

Question Number : 113 Question Id : 6154756089 Question Type: MCQ Option Shuffling: No Display Question Number :
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which the following are components of Oral Rehydration Salt?

(a) Sodium chloride

(b) Calcium chloride

(c) Potassium chloride
(d) Magnesium chloride

(1) (a) and (b) are correct (2) (b) and (c) are correct
(3) (a) and (c) are correct (4) (b) and (d) are correct
Options:

BE15475237459. 1
B1547523750. 2
61547523751, 3
61547523752 4

Question Number : 113 Question 1d : 6154756089 Question Type: MCQ Option Shuffling: No Display Question Number :
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

faAferiiad 0 ° F19-5 7e MREssd 902 & 2% 7 7

(a) aifsaq FrEs (b) HieHTH FANES
(c) TS TS (d) #fEEEm F=Es

o o i
Hel TEhed =6 989 hIlET :

(1)  (a) 3R (b) 7@ 7 (2) (b) #F (c) FAI 7
Options:

615475237491
E1547523750. 2
BE1547523751. 3
B1547523752. 4

Question Number : 114 Question Id : 6154756090 Question Type: MCQ Option Shuffling: No Display Question Number :
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following syndromes are associated with abnormalities of sex chromosomes?

(a) Khinefelter's syndrome
(b) Marfan's syndrome
(c) Down’s syndrome

(d) Turner's syndrome

(1) (a) and (b) are correct (2) (a) and (c) are correct

(3) (b) and (c) are correct (4) (a) and (d) are correct
Options:

BE1547523753. 1
61547523754, 2
61547523755 3
E1547523756. 4

Question Number : 114 Question Id : 6154756090 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frafafaa 4 9 ®=H-40 faesm gom wmmEm F sEEa § 53 27

(a)  FesATEA faEm (b) #TFE o=
(¢) =39 forsm (d) =9 faesm

=l 9T =1 =989 Hilao

(1)  (a) 3 (b) =& & @ (@) ot @ ud
Options:

BE1547523753. 1
61547523754, 2
61547523755 3
E1547523756. 4

Question Number : 115 Question Id : 6154756091 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are zoonotic disease?

(a) Hepatitis - E

(b) Typhoid fever

(c) Plague

(d) Leptospirosis

Choose the correct option :
(1) (a) and (b) are correct

(2) (b) and (d) are correct

(3) (a) and (c) are correct
(4) (c) and (d) are correct
Options:

BE1547523757. 1
B1547523758. 2
61547523755, 3
B1547523760. 4

Question Number : 115 Question 1d : 6154756091 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fr=fafga 4 9 ®=F-0 1 geEta (FHifew) 27

(a) UL §

(b) THAEES TGN

e

(c) on

(d)

o7l T =1 =999 Hiian

0 B @ @) s @
® @ @ (@i @ 2
Options:

E1547523757. 1
61547523758, 2
E1547523759. 3
B1547523760. 4

Question Number : 116 Question Id : 6154756092 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the defence mechanism mentioned in Column I with characteristic mentioned in

Column IT
Column I
(a) Rationalisation
(b) Projection
(¢) Escape mechanism

(d)

Displacement

Choose the correct option :

(1)
(2)
(3)
(4)

Options:

(a)-(ii). (b)-(1). (e)-(v). (d)-(iii)
(a)-(iv). (b)-(iii). (c)-(1). (d)-(ii)
(a)-(i1). (b)-(iv). (c)-(1). (d)-(ii1)
(a)-(ii1). (b)-@). (c)-(v). (d)-(1)

615475237611
E1547523762. 2
E1547523763. 3
BE1547523764. 4

(1)
(i1)
(111)

(1v)

Column IT

Student blaming teacher giving less
marks due to dishke

Beating child after hard day at office
‘Fox declaring grapes are sour’

Consuming aleohol

Question Number : 116 Question Id : 6154756092 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



g1 9 3fgfaa fovm whsg =1 g=h-11 # sfgias

(a)

(b)
(c)
(d)

-1

Hifaea v (TeHeEeTE)

e (TS )

TATE (35RT) HE S

HaT TersheT =7 =99 Hiraw

(1)
(2)
(3)
(4)

Options:

(a)-(11). (b)-(1). (e)-(iv), (d)-(111)
(a)-(av). (b)-(111). (¢)-(1). (d)-(11)
(a)-(1). (b)-(1v). ()-(1). (d)-(111)
(a)-(111). (b)-(1). (e)-(v). (d)-(11)

61547523761, 1
BE1547523762. 2
E1547523763. 3
B1547523764. 4

fareraaTat & =1y ﬂ"qfc—fm FIfAT

(1)

(11)

= -11

o =1 & FAW 0 5F =9 7 F S
EUICH

FEATT & Fiad 999 & 912 sS4 F 92

(ili) AHET g1 T7 T R 5 5T s 3

(1v)

IATE YT

Question Number : 117 Question Id ;: 6154756093 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the type of data (Column I) with statistics used (Column II)

Column I Column IT
(a) Nominal (1) Pearson'sr
(b) Ordinal (1) Chisquare {}{2 )
(¢) Interval (111) phi (¢)
(d) Dichotomous (lv) Spearman’s rho (p)

Choose the correct option :

(1) (a)-(D. (b)-Q). (0)-(1v). (d)-(111)
(2) (a)-(v), (b)-(111). (c)-(2). (d)-(11)
(3) (a)-(m). (b)-(v). (e)-(1). (d)-(1m)
(4)  (a)-(11). (b)-Q). (e)-(v). (d)-(11)

Options:

61547523765, 1

E1547523766. 2

E1547523767. 3
E1547523768. 4

Question Number : 117 Question Id : 6154756093 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T=i-1 4 To3 7 59 1 g=i-11 5 7 Siieehl & 519 gafem i

gei-1 TH-I1
(a) A= (FHT=) (i) TEEE AW (1)
b) s (i) (i) = (p2)
(c) 3w (3z9e) (i) 7 (g)
(d) f-Tawss (s (iv) =i=E rho (p)

o7l faeT o1 999 =hifa0 ;

(1) (a)-(11). (b)-(1). (e)-(v). (d)-(111)
(2) (a)-(w). (b)-(111), ()-(2). (d)-(1)
(3) (a)-(11), (B)-(1v). (e)-(1). (d)-(11)
(4) (a)-(11). (b)-Q). (c)-(v). (d)-(11)

Options:

61547523765, 1
61547523766 2
61547523767, 2
E1547522768. 4

Question Number : 118 Question Id : 6154756094 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match diseases (Column I) wath Agents used for chemoprophylaxis (Column II)

Column I Column IT
(a) Plague (1) Ciprofloxacin
(b) Diphtheria (1) Doxyeycline
() Meningococeal meningitis (1) Erythromycin
(d) Malara (tv) Tetracychne

Choose the correct option :

(1) (a)-(11). (b)-(1). (¢)-(v). (d)-(111)
(2)  (a)-(w). (b)-(11D). (c)-(1). (d)-(11)
(3)  (a)-(D). (b)-(w). (¢)-(1). (d)-(111)
(4  (a)-(id). (b)-@). (c)-(iv). (d)-(1)

Options:

61547523769, 1
61547523770 2
61547523771, 2
61547523772 4

Question Number : 118 Question 1d : 6154756094 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fiem-1 7 &3 7 1 F1 Fem-11 § FEmeEaEes % o w Afimars 7 @y gafeg i

e -1 Fied-11
(a) = (i) ToorREE
(b) Teeofifem (i) sifFgEEFEE
(c) Tafrrmre difqarsfea (iii) whumEEREE
(d) e (iv) ZZETEfEE

HE] TereeT =] 999 THITA0

(1) (a)-@). (b)-Q). (c)-(1v). (d)-(1i1)
(2)  (a)-(w). (b)-(111). (c)-(2). (d)-(u1)
(3)  (a)-1). (b)-(1v). (e)-(1). (d)-(ii1)
(4) (a)-(111). (b)-(1). (¢)-(1v). (d)-(11)

Options:

61547523769 1
61547523770, 2
61547523771, 2
61547523772 4

Question Number : 119 Question 1d : 6154756095 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match the components of validity in Column I with description in Column II

Column I

(a) Convergent validity

(b) Construct vahdity
(c) Internal vahidity

(d) Face validity

Choose the correct option :

(1)  (@-@GD. (b)-Q). (¢)-(1v). (d)-(ii1)
(2) (a)-(1v). (b)-(11). (c)-(1). (d)-(11)
(3) (a)-(1). (b)-(1v). (c)-(1). (d)-(111)
(4)  (a)-(id). (b)-(). (¢)-(iv), (d)-(i1)

Options:

15475257751

1547522774 2

B1547523775. 3
E1547523776. 4

(1)

(1)

(111)

(1v)

Column IT

Hypothesis deduced from theory is
relevant to underlying concept

Indicator reflects content of concept

Compare to other measure of same
concept

Finding of causal relation between
variables 1s sound

Question Number : 119 Question Id : 6154756095 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



FieAd-1 T dear % =2l # Fea-11 1 3@+ T + @y gafag Fifao

(a)

(b)

(c)
(d)

Fiea-1

SATgT e
~ -ﬂ’r.-\ F-_‘{?::IHT

T (FE) Faa

7] o7 1 =97 I

(1)
(2)
(3)

(4)
Options:

(a)-(i1). (b)-(1). (e)-(v). (d)-(iii)
(a)-(1v). (b)-(i11), (c)-(1). (d)-(11)
(a)-(11). (b)-(iv). (c)-(1). (d)-(ii1)
(a)-(111). (b)-(1). (c)-(v). (d)-(11)

BE1547523773. 1
B1547523774. 2
B1547523775. 3
B1547523776. 4

Question Number : 120 Question 1d : 6154756096 Question Type:
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1)

(13)

(111)

(iv)

Fieag-11

foga § e aftwea s=aHTed sTaumn
Toha®  FIYEOT Rt faumeEeg 1 widtsisd
Enuil

A FALLRON % ATHH 8 g1 T 3
=] % A FE-HA0 HEY % w6 3 w5

=
o

MCQ Option Shuffling: No Display Question Number : Yes



Match the Management of health and disease (Column II) characteristic with stage of
transformation of society (Column I)

Column I Column IT
(a) Traditional (1)  Public health
(b) Industralising (1) Loeal
(c) Modermising (m) Managed care
(d) Post modern (iv) Preventive care

Choose the correct option :

(1) (a)-(11). (b)-(1). (c)-(1v). (d)-(111)
(2) (a)-(1v). (b)-(11). (e)-(2). (d)-(1)
(3) (a)-(11). (b)-(). (2)-(1). (d)-(111)
(4) (a)-(11), (b)-(). (c)-(1v). (d)-(11)

Options:

61547523777, 1
61547523778 2
61547523779, 2
61547523780 4

Question Number : 120 Question Id : 6154756096 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frem-11 4 = F1 T8989 37 W F Fed-1 0 Ga7F F TG F w6 % 419 gfed i

Fad-1 Freg-11
(a) T (1) 9 =
(b) TR (1) U=
(c) smafEhIR (i) e ZEET
(d) I AgHF (iv) Tars z@ae

[ T e il
Hal e d =/l F494 IS .

(1) (@)-). (b)-(). (c)-(v). (d)-(111)
(2)  (@)-v). (b)-(11), (c)-(1). (d)-(a)
(3)  (a)-(). (b)-(w). (c)-(1), (d)-(111)
(4) (a)-(m). (b)-(). (c)-(v). (d)-(11)

Options:

B1547523777. 1

61547523778 2

B1547523779. 3
B1547523780. 4

Question Number : 121 Question Id ;: 6154756097 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List-TI with List-IT

(a)

(b)
(c)

(d)

TastI
(Component of evaluation)
Relevance
Accessibility
Efficiency

Impact

(1)

(11)
(111)

(1v)

Choose the correct option from those given below :

(1)
(2)
(3)
(4)

Options:

(a)-(11). (b)-(111), (c)-(iv), (d)-(1)
(a)-(111), (b)-(v), (¢)-(1). (d)-(11)
(a)-(), (b)-(iv), (¢)-(i1). (d)-(iil)
(a)-(v). (b)-(1n3). (e)-(1). (d)-(11)

61547523751, 1
E1547523782. 2
E1547523783. 3
B1547523784. 4

List IT

(Characteristic)
Measurement of utilisation  of
resources to achieve a given
effectiveness
Overall effect of a service on health
status
Proportion of the given population
expected to u se a specified service
Requisiteness related to the

appropriateness of service

Question Number : 121 Question Id ;: 6154756097 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



-1 #1 g=i-11 § gl Fiiaw

AT 1 92F

b) A
(c) q&mT
(d) 9=

f=1 fam o fawedt | © T fawes 9i

(1) (a)-(). (b)-(11), (e)-(v), (d)-01)
(2)  (a)-(1). (b)-Gv). (e)-(). (d)-(1)
(3)  (a)-0), (b)-(v), (c)-(1), (d)-(1m)
4 (2)-av). (b)-(11). (¢)-@). (d)-(1w)

Options:

61547523781, 1
61547523782 2
61547523783 2
61547522734 4

(1)

(i1)
(111)

(iv)

|

=G

TETEAT = 3T F 9T
et fafor= 991 =1 59 =9 & oo
TeATTSTE 31 T8 FAEEAT T A9

T IR | HEfad S9ET

Question Number : 122 Question Id : 6154756098 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-I with List-II

List I Last IT
(Organism) (Vector)
(a) Wuchereria bancroft: (1) Mansonia
(b) Brugia malayi (1) Chrysops
(c) Oncocerea volvulus (i11) Culex
(d) Loa loa (iv) Simulum

Choose the correct option from those given

(1) (a)-(1). (b)-(111). (c)-(1v). (d)-(1)
(2) (a)-(1v). (b)-(11). (c)-(1). (d)-(111)
(3) (a)-(1). (b)-(1v). (c)-(il). (d)-(111)
(4) (a)-(11). (b)-(1). (c)-(1v). (d)-(11)

Options:
615475237551

E1547523786. 2
B1547523787. 3
61547523788, 4

Question Number : 122 Question 1d : 6154756098 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tfi-1 %1 gei-11 ¥ gafea Hif

-1 -1
(Fezerirar) (T arEF )
(@) T S (i) =i
(b) gFr T (i1) wrEETE
(c) AT AedE (iii) T
(d) == = (iv) Tomgem
o fow o foredt 3 & wé e gfi

(1) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)
(2) (a)-(1v). (b)-(11). (¢)-(1). (d)-(111)
(3) (a)-(1), (b)-(1v). (e)-(11). (d)-(111)
(4) (a)-(111). (b)-(1). (e)-(av). (d)-(11)

Options:

£1547523785. 1
E15475227E6. 2
61547523787, o
61547523788, 4

Question Number : 123 Question Id : 6154756099 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List-I with List-II

List-I Last-II
{(Vector) (Disease)
(a) Aedes aegypti (i) Epidemic typhus
(b) Haemaphysalis spinigera (i1) Plague
(c) X cheopsis (i11) Zika virus disease
(d) P.corporis (iv) Kyasanur forest disease

Choose the correct option from those given below :

(1) (a)-(11). (h)-(1). (e)-(111). (d)-(1v)
(2) (a)-(1). (b)-(11). (¢)-(1i1). (d)-(iv)
(3) (a)-(1m1). (b)-(av). (c)-(1). (d)-(2)
(4) (a)-(1v). (b)-(1m1). (c)-(11). (d)-(1)

Options:
E1547523759. 1

B1547523730. 2
61547523731, 3
B154752373%. 4

Question Number : 123 Question 1d : 6154756099 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A t-1 =t -1 & Fofera Fife

-1 get-1I

(3ex) ()
(a) uisd T2 (i) fufstrs zewa
(b) EEwEe featm (i)
(c) T\ Fretug (ii1) ST FmEEE T
(d) dt. =it (fv) FamEER e feefi=
{2 fou o ol & © B 3 9f

(1) (a)-(11). (b)-(1). (e)-(111). (d)-(1v)
(2) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(3) (a)-(111). (b)-(1v). (c)-(11). (d}-(1)
(4) (2)-(1v). (b)-(111). (e)-(11). (d)-(1)

Options:

1547523789, 1

1547523790, 2

G1547523731. 3
E1547523732. 4

Question Number : 124 Question Id : 6154756100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the List-I with List-II

ListI List II (CHD = Coronary Heart Disease)

(Research Project)

(a) MONICA Project @)
(b) Framingham study (11)
(c) Standford — three community study (111)
(d) North Keralia Project (1v)

Choose the correct option from those given below :

(1) (@-1), (b)-(v). (e)-(11). (d)-(111)
(2)  (2)-. (b)-(v). (c)-(D. (d)-(11)
(3) (-1, (b)-@1). (e)-11), (d)-Gv)
4 (@-w). (b)-). (c)-@). (d)-(i1)

Options:
E1547523753. 1

B15475237394. 2
B15475237385. 3
B1547523736. 4

(Aims/Objective)

To determine whether commumty
health education can reduce the risk of
CHD

To elucidate the reasons for changing
trends in CHD

To promote early diagnosis, treatment
and rehabilitation of patients with
cardiovascular disease

To establish the nature of CHD msk
factors and their relative importance

Question Number : 124 Question 1d : 6154756100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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(b)
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(1)
(2)
(3)
(4)

Options:

(a)-(1), (b)-(iv). (c)-(11). (d)-(1)
(a)-(11). (b)-(). (e)-(1). (d)-(111)
(a)-(m1), (b)-(1). (¢)-(1), (d)-(xv)
(a)-(1v). (b)-(11). (c)-(2). (d)-(111)

615475237321
61547523734, 2
E1547523735. 3
E15475237396. 4

(1)

(11)

(111)

(1v)

T=H-11 (CHD = =1 =12 f5i)

(% f35)

TE FEUG AT TR O OTgEiEe |

o v= 2 ° wEod ®FE % w0 S SHE]
FT

P -

FSTEEFa U+ UGEN % A FEE,

W U9 S SIEH FRl whi TR SR 39
O Teed 1 941 oA

Question Number : 125 Question Id : 6154756101 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List I with Last IT —

List I Last IT
(Colour of Biomedical waste contain) (Tvpe of waste biomedical)
(a) Yellow (1) Discarded glass
(b) Red (1) Dressing contaminated with blood
(c) White (translucent) (n1) Catheters
(d) Blue (1v) Contaminated metal

Choose the correct option sharps from these given below :

(1) (a)-(1), (b)-(11). (e)-(111), (d)-(1v)
(2)  (a)-(i). (b)-@ii). (e)-(@v), (d)-(1)
(3) (a)-(111), (b)-(1v). (c)-(1). (d)-(i1)
(4)  (a)-v). (b)-(1), (c)-(11). (d)-(111)
Options:

154752537971

1547522798 2

615475237399 3
61547523800, 4

Question Number : 125 Question Id : 6154756101 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



F=Ht-1 =1 gfi-11 = =g gefo Hifaw

-1 TeA-11
(STATHTSFe Fe T 1) (sTaTET=FA F= T THE)
(a) dter (1)  FFgEErt it
(h) A (i) 75T Al Tgfua e
(¢) THg (THHTIF) (ii1) H
(d) Hew (iv) =g amg
= fou o famedt 7 O wE s g

(1) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(2) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)
(3) (a)-(111). (b)-(1v). (e)-(1). (d)-(11)
(4) (a)-(1v). (b)-(1). (e)-(11). (d)-(112)

Options:

51547523797, 1

61547523798, 2

B15475237395. 3
61547523800, 4

Question Number : 126 Question Id : 6154756102 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Arrange the various maternal and child health programmes 1n India (from the earliest to the
most recent one) :

(1) India Newborn Action Plan (INAP). RCH II, C.5.5.M. (Child Survival and Safe
Motherhood Programme. RMINCH+A strategy
(2) C.S.5.M., RCH II. RMNCH+A strategy. India Newborn Action Plan
(3) RCHII. C.5.8.M.. EMNCH+A. India Newborn Action Plan
(4) C.S.5.M.. RCHIIL INAP, RMNCH+A
Options:
154752580101
1547522802 2

61547523803, 3
61547523804, 4

Question Number : 126 Question Id : 6154756102 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

A o i 7 1T e s FEEA AR HH ° Faedd H (F9E TEd AR T T FwEEs °

(1) Yd T i AT (E v U b)), sR d@ vg I, HueuE s, (SEes A@disdae s O%
AEES UMW), AR UH T H T + T

(2) H.UH.TH.UH., AR v [[, A0 U5 U H U9 + U S22, WA A9 HE qreE

(3) wm i va 10, Hi.u o8.ve., A% TR U4 O U9 + U, WAA F996 9 A0S

(4) H.UHUTHUH,, AR H TEIl, AS TH U, AL UH U H U9 — U

Options:

61547523801, 1
615475223802 2
61547523803 2
61547523804, 4

Question Number : 127 Question 1d : 6154756103 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The correct order of manpower deficiency according to Increasing magnitude (least to
highest) in Primary Care India 1s

(1) Health Worker (male). Pharmacist. Lab Techmician, Health Worker (female)
(2) Healthh Worker (male, Health Worker (female). Lab Technician, Pharmacist

(3) Health Worker (female), Lab Technician, Health Worker (male), Pharmacist
(4) Health Worker (female). Pharmacist. Lab Technician, Health Worker (male)

Options:

£1547523805. 1
E1547522806. 2
615475223807, 5
61547522808, 4

Question Number : 127 Question Id : 6154756103 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



qTA H WATF 909 H 9ed 70 AT (T9H FH I IF Hd 50 TeE ATGF 7)) F ATAN FAE FH F
TE FH T A W

(1) w2 FEFar (T59), FEIEE, =" ZHI0EA, ERe FEEdl (3fE)

(2) A AT (T ), FEA el (FiET), 99 2, S

(3) TR ] (AR ), 9 S, = e (99, B
(4) T FEEAT (AfEe), FEIEE, o SN, S wEwdl (15)
Options:
15475235051
E1547522806. 2

E1547523807. 3
B1547523808. 4

Question Number : 128 Question Id : 6154756104 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the health related policies in chronological order from oldest to more recent one

(1) Ist National Health Policy, I®* National Population Policy, It National Policy for
Children, I** Nutrmtion Policy

(2) I*t National Poliecy for Children. I¥* National Population Policy, If* National Health
Policy, Is* National Nutrition Policy

(3) It National Population Policy, I* National Health Policy. I National Nutrition
Policy. It National Policy for Children

(4) It National Nutrtion Policy, I National Population Policy, I¥* National Health
Policy. I*t National Policy for Children
Options:
15475223509, 1
15475238510 2
615475238511 2
61547523512 4

Question Number : 128 Question 1d : 6154756104 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FefafEa =g Tadl fifaa 1 FoFEaaan (F98 T2 09 29 97 B AN #0671 Al e

(1)  T=cdl U ST i, Tl T SHEEEl A, Tael TR S A, TEel T 9uEn A

(2)  TEell UM = i, TEell LA e i, TEel g =R Jifd, TEe T2 aEn i

(3)  Teell W FEE i, Tael WA = i, Tae TE urer i, 95 7= ane i

(4)  TESA TLE TEER 9, Tae T T SHEE 11d, TRl W =\ |iid, TEet T |1 i

Options:

61547523809, 1
61547523810 2
61547522811, 2
615475223812 4

Question Number : 129 Question Id : 6154756105 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Correct sequence of main handicapped person categories in India according to Increasing
estimated numbers 1s

(1) Speech disabled. hearing disabled. mentally retarded. blind

(2) Speech dizabled. hearing disabled. blind. mentally retarded

(3) Speech disabled. mentally retarded. hearing disabled, blind

(4) Mentally retarded. speech disabled. blind. hearing dizabled

Options:

61547523813, 1
61547523814 2
61547523815 2
61547522816 4

Question Number : 129 Question Id : 6154756105 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

T2 FH H ITATHA ST AT 9§ o =atw i g w5 wE e E

(1) =% F:9h, 499 .96, qFES =9 ° TEied, =0

@) are s, Fae fees, e, gt = 9

(3) = Trwrw, oWfEE =1 4 fmfEE, mmw o, e

(4)  HFES =9 9 f9uia, a6 Faes, =eE, 5= e

Options:
61547523813, 1
615475223814, 2



E1547523815. 3
61547523816, 4

Question Number : 130 Question Id ;: 6154756106 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Correct sequence of soclal security measures for industrial workers in chronological order of
vear of legislation from oldest to most recent one 1s

(1)
(2)
(3)

(4)

Options:

Workmen's Compensation Act. Central Maternal Benefit Act. Employee State
Insurance Act (ESI Act). Family Pension Scheme

Workmen's Compensation Act. ESI Act. Central Maternal Benefit Act. Family
Pension Scheme

Family Pension Scheme., Workmen's Compensation Act, ESI Act, Central Maternal
Benefit Act

Central Maternal Benefit Act, Workmen's Compensation Act, ESI Act. Family
Pension Scheme

61547523817, 1
E15475238158. 2
E1547523818. 3
B1547523820. 4

Question Number : 130 Question Id : 6154756106 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ST TR & WIS JEe AT F1 J89 TEE 8 566 A G99 i FewaEn geateaa

E

(1)

(2)

(3)

(4)

Options:

af
T

BE1547523817. 1
61547523818, 2
61547523819, 3
61547523820, 4

Question Number : 131 Question Id : 6154756107 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following serclogical markers of Hepatitis B in chronological order of theiwr
appearance. (from the earliest to the most recent one)

(1) HB:Ag. HB:Ag, Anti-HB.. Anti HB:
(2) HB:Ag. Anti HBs. HBeAg, Anti HB-
(3) HB:Ag. HB:Ag, Anti HB., Anti HB:
(4) HB:Ag. HB:Ag, Anti HB:. Anti HB.

Options:

61547523821, 1
61547523822 2
61547523823 2
61547523824 4

Question Number : 131 Question Id : 6154756107 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

EUETEE W F FefAnad TRerdE e i 3 T B F FEHAEEE eaigd e (WEEa o
T A % %A °)

(1) HB:Ag. HB:Ag. Ant1-HB., Ant1 HB:
(2) HB:Ag. Ant1 HB:. HB:Ag. Ant1 HB:
(3) HB:Ag. HB:Ag. Ant1 HBc. Ant1 HB:
(4) HB:Ag. HB:Ag, Ant1 HB=, Ant1 HB:

Options:

61547523521 1

B1547523522. 2

61547523823, 3

61547523524 4

Question Number : 132 Question Id : 6154756108 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A child aged 10 years got the dog bite wound on face while playing in the street. The wound
was deep which required suturing and was severely bleeding as well.

Arrange 1n order the steps of local wound treatment

(1) Cleansing with plenty of soap and water, nrigation with virucidal agents. antibiotic
and antitetanus measures. suturing of wound

(2) Cleansing with plenty of soap and water, suturing of wound. 1rrmgation with virucidal
agents, antibiotic and antitetanus measure

(3) Suturing of wound. antibiotic and antitetanus measure. cleansing with plenty of soap
and water. irrigation with virucidal agents

(4) Irrigation with virucidal agents. suturing of wound, cleansing with plenty of soap and

water, antibiotic and antitetanus measure

Options:
61547523825, 1



E1547523826. 2
B1547523827. 3
61547523828, 4

Question Number : 132 Question Id : 6154756108 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

v 10 @9 % w=d F Tl ° W 7Y 9E TOFH 6 WA H H B | e e o1 fAEe 2l o

ATETIFRAT W 2T THE A T 9% 6 91| W % T4 39EE % Haq F suad i

(1) AcATGF BEA AN T F HTE HA, AEEE R AT O AEATA] "9, UEEieE 1

(2)  FACATSF TEE AR TEI H AR AT, SEH U 20 o0, JEE D AEA dTe SATEmarst 3 g,
UHEEEF 3 AT 30

(3) TS T 2 AT, T HN UAEE U, ScAtae ArEE A7 Ul § @TF HT, 9EE 6
I J1e STaisT o 9

(4)  TEEE H AEA T AGFEATA § OGF1, WER W 2 oI, AcAad =@ ST T # 97,

Options:

615475235251
615475223826, 2
61547523827, o
61547523828, 4

Question Number : 133 Question Id ;: 6154756109 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the following interventions under National Health Mission. in chronological order of
their inception (from the earhest one to the most recent one)

(1) Janam Suraksha Yojna (JSY). Navjat Shishu Surksha Karyakram (NSSK). Janam
Shishu Suraksha Karyvakram (JSSK), Rashtriva Bal Swasthyva Karvakram (RBSK)

(2) Janam Shishu Suraksha Karvakram (JSSK), Navjat Shishu Surksha Karyvakram
(NSSK). Janam Suraksha Yojna (JSY), Rashtriva Bal Swasthya Karyakram (RBSK)

(3) Rashtriyva Bal Swasthya Karyvakram (RBSK). Navjat Shishu Surksha Karyakram
(NSSK), Janam Suraksha Yojna (JSY), Janam Shishu Suraksha Karyakram (JSSK),

(4) Rashtriva Bal Swasthya Karvakram (RBSK). Janam Suraksha Yojna (JSY). Janam
Shishu Suraksha Karyakram (JSSK), Navjat Shishu Surksha Karyakram (NSSK)

Options:
61547523529 1

E1547523830. 2
E1547523821. 3
B1547523832. 4

Question Number : 133 Question Id ;: 6154756109 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



T FEA [T e g BEmE H S TR % ®H 0 geiaiedd i (FeH Ui o
TR A= T

(1)
(2)
(3)
(4)

Options:

ST T TS, a5 g e, S e S, T A SR HEm
ST T9T91 TEeA TS, AT 19 GEE s, Sl SO A0S, WA 6 S FEEE F
T W T HEEE, AT 99 AT EEE, S JET AT, AT 919 SO e

T A T FHEEET. T 7 T =T, ST T 3] TR FEEHT. TI f—ﬂ‘-‘i A

615475238291
61547523830, 2
E1547523821. 3
E1547523832. 4

Question Number : 134 Question Id : 6154756110 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following food articles in descending order as per calor: value (per 100 g)

(1)
(2)
(3)
(4)

Options:

Sovabean, Whole wheat, Cow milk, Banana
Soyabean., Whole wheat, Banana, Cow milk
Whole wheat. Soyabean. Banana. Cow milk

Banana, Soyvabean. Whole wheat, Cow milk

51547523833, 1
61547523824, 2
61547523835, 3
E1547523836. 4

Question Number : 134 Question Id : 6154756110 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frfefiga =@ geret = e o= (afd 100 7m) F s8R FJ9uE #44 9 fod

Options:

(1)
(2)
(3)

(4)

THEEH, "9 77, Fel, T H 2h

TS TR, WA, e, T F 5Y

61547523833, 1
61547523834, 2



E1547523835. 3
B1547523836. 4

Question Number : 135 Question Id ;: 6154756111 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the following vaccines from more sensitive to freezing to least sensitive to freezing
(1) Hepatitis B, Pentavalent. Inactivated Polio virus. Rota virus
(2) Pentavalent, Hepatitis B, Inactivated Polio virus. Rota virus
(3) Pentavalent. Inactivated Polio virus. Hepatitis B. Rota virus
(4) Rota virus, Inactivated Polio virus, Hepatitis B, Pentavalent,
Options:
E1547523537. 1
6154752305308 2

B1547523839. 3
61547523840, 4

Question Number : 135 Question 1d : 6154756111 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FeferfEn Sem =+ A Taesiie @ $Ifs o 998 F9 e 8 $I 5 %9 0 goaierd Fifan .

(1) FTeERE &, e, SuiFass T, TEEEE

(2) TeTaTe, TIITERT W, TAuEedss TiferaEraE, TeEE

(3)  UeHde, TUfFeALs TGTHETEE, FULEEH 5, TErEE
Options:

61547523837, 1
61547523838, 2
61547523839, 3
E1547523840. 4

Question Number : 136 Question Id : 6154756112 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - One 1s labelled as Assertion (A) and the other 1s labelled

as Reason (R) :

Assertion (A):  The age pyramid of India 1s typical of a broad base and a tapering top

Reason (R) : The population continues to grow because births exceed deaths

Choose the appropriate option from the following :

(1) Both (A) and (R) are true, and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (R) 18 true but (A) 1s false
Options:
15475228411
1547523542 2
15475238543 2
E1547523544 4

Question Number : 136 Question Id : 6154756112 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

i s (A) s T (B) % w9 A @ Fo o
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% (R) : a1 °§ FRa gig 2l et 2 F00F F70 SHame il T weae | i 2
(1) (A)#F R) 2A T 2 A7 (R) (A) #1157 =wen 2
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(3) (A= 2 (R) 7o 2

4 @) FE 2 g Q) Ta R

Options:



BE1547523841. 1
B1547523842 2
61547523843, 3
61547523844, 4

Question Number : 137 Question Id : 6154756113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements - One 1s labelled as Assertion (A) and the other 1s labelled

as Reason (R) :

Assertion (A):  Migrant studies are important to generate evidence for genetic factors as

cause of a disease

Reason (R) : Migrants provide perfect randomly selected natural group for comparison

with thelr counterparts who stay at native place

In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true. and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options:

£1547523845. 1
E1547522846 2
61547522847, o
61547522848, 4

Question Number : 137 Question Id : 6154756113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(3 (@@ zFEa R T

4) (A 7TeE 2 g R) 7A 2
Options:
15475223845 1
61547523846, 2

E1547523847. 3
B1547523848. 4

Question Number : 138 Question Id : 6154756114 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(Given below are two statements - Assertion (A) and Reason (R) :

Assertion (A):  Multiphasic screening has enjoved considerable popularity

Reason (R) : It benefits to reduce cost. morbidity and mortality
In hight of the above two statements, choose the correct option :

(1) Both (A) and (R) are true. and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1z false but (R) 1s true



Options:

615475235849, 1
61547522850 2
E1547522851. 2
615475223852, 4

Question Number : 138 Question Id : 6154756114 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Hr= sfimyE (A) 31 7% (R) % %9 § 31 %94 20 70 3
AR (A) : SE-=RUE HT 1 wEd AT TiElg He 7

% (R) : SHE @FIG: EEESA] 310 §eg 2% H Faidl H ° giaen 2l 2|

(1) (A 3T (R) 3F1 =21 7 377 (R) (A) 1 =& =wen 2
(2) (A 3T (R) I 581 £ 311 (R) (A) i 981 == 771 2
(3) (A=A ? g (R) T4 2

(4) (A) Teid 2 T (R) @21 2

Options:

61547523849, 1
61547522850 2
615475223851, 5
61547522852 4

Question Number : 139 Question Id : 6154756115 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - One 1s labelled as Assertion (A) and the other 1s labelled

as Reazon (R) :

Assertion (A):  After providing “on-the-spot”™ sample, the suspected case of TB patient
shall be provided with a sputum container to take home for early morning

sample the following morning

Reason (R) : Patient 1s more relaxed at home and after overmght sleep. 1s In more

comfortable position to provide sputum at home

Choose the appropriate option from the following:

(1) Both (A) and (R) are true, and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true. but (R) 1s not the correct explanation of (4A)
)] (A) 1s true but (R) 1s false

(4) (R) 1= true but (A) 1s false

Options:

61547523853, 1
61547523854 2
61547523855 2
61547522856 4

Question Number : 139 Question Id : 6154756115 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475235531
61547522854, 2
615475223855, 5
61547523856 4

Question Number : 140 Question Id : 6154756116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements - One 1s labelled as Assertion (A) and the other 1z labelled

as Heason (R) :

Assertion (A):  Insulin resistance may lead to Hypertension

Reason (R) : Insulin resistance results in hyperinsulinemia which contributes to high
levels of triglycerides and increased sodium retention by renal tubules.

thus inducing hypertension

Choose the appropriate option from the following :

(1) Both (A) and (R) are true, and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (R) 1s true but (A) is false

Options:

61547523857, 1
61547523858 2
61547522859 2
E1547522860. 4

Question Number : 140 Question Id : 6154756116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547523857, 1
61547523858 2
61547522859 2
E1547522860. 4

Sub-Section Number: 2
Sub-Section 1d: 615475270
Question Shuffling Allowed : Yes

Question Id : 6154756117 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehension



Read the following passage and answer the questions which follow :

A newly married couple (Mr. A and Mrs. B) visited the hospital for counselling about family
planning. The doctor counselled them up to their satisfaction. Mrs. B was having history of
wwregular menstrual cvele which varied from 25 to 30 days. The bleeding was reported to be
usually excessive. lasting for 7 to 9 days and was accompanied by abdominal pain
occasionally. As Mr. A was reluctant to use any contraceptive. Mrs. B was explained about
all possible options. Finally. she selected combined pills (oral hormonal contraceptives) She
was explained in depth about "how to use” combined pills and when to return. i1f required.
All contraindications of combined pills were also ruled out. After 15 days of starting Mala-N
(combined pills). Mr. B visited 2% time the hospital in morning hours. as she had forgotten to
take the pill previous night. Till that day. she had taken it regularly. She was given
appropriate advice. Again. after when she had started next cycle of oral pills. the wife paid
3 y1s1t to hospital with an anxiety. as she had not menstruated vet.

Sub questions

Question Number : 141 Question Id : 6154756118 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following approach was provided to the couple for family planning?

(1) Primary Health Care (2) “Atnsk”
(3) Cafeteria Choice (4) Conventional
Options:

BE1547523861. 1
B1547523862. 2
61547523863, 3
61547523864, 4

Question Number : 142 Question Id : 6154756119 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which duration of menstrual cyele, shall be the “fertile period” for this couple?

(1) 71-20 days (2) 10-18 days
(3) 12-15 days (4) 14-20 days
Options:

51547523865, 1
E1547523866. 2
E1547523867. 3
E1547523865. 4

Question Number : 143 Question Id : 6154756120 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which duration of menstrual cvele, shall be the “fertile period” for this couple?

(1) 71-20 days (2) 10-18 days
(3) 12-15 days (4) 14-20 days
Options:

61547523869, 1
B1547523870. 2
BE1547523871. 3
B1547523872. 4

Question Number : 144 Question 1d : 6154756121 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What shall 'NOT be the component of advice during 224 visit?

(a) Start the new cycle of combined pill from today
(b) Take the “missed pill” as soon as she remembers
(c) Husband shall use the contraceptive for that menstrual cycle

(d) The next scheduled pill shall be taken at the usual time

Choose the approprate option

(1) (a) and (b) are correct (2) (a) and (c) are correct
(3) (b) and (d) are correct (4) (b) and (c) are correct
Options:

615475238731
61547523874, 2
61547523875, 3
E1547523876. 4

Question Number : 145 Question Id : 6154756122 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What shall be the most appropriate advice at the 34 visit?

(1) Slkip the brown pills of MALA-M and take only white pills now onwards
(2) Switch over to the other method of contraception

(3) Second cycle shall be started. once the bleeding occurs

(4) Start the second cycle one week after the preceding one

Options:
61547523877, 1



E1547523878. 2
B1547523879. 3
61547523880, 4

Question Id : 6154756117 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension
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Sub questions

Question Number : 141 Question Id : 6154756118 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

20qT =i Teferiaa 8 9 ofar FEeE =1 %6 97 Gt I9ued O T4

(1)  wufas = sEd (2) SfEEw
(3)  FHerE faweT (4 T
Options:

BE1547523861. 1
B1547523862. 2
61547523863, 3
61547523864, 4

Question Number : 142 Question Id : 6154756119 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HIH 9% 1 Fi4 o 37919 4 =599 & &0 Y | w5

(1) 7-20 T3 (2) 10-18 fz=
(3) 12-15 = (4) 14-20 fe=
Options:

E1547523865. 1
E1547523866. 2
B1547523867. 3
61547523868, 4

Question Number : 143 Question 1d : 6154756120 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fafya Miet 1 TeaT " e 3% wom

(1) =19 9% 5 509 54 W
(2)  HIHF 9% & TrEd 29 =

(4) =9 HaEE 52 7 A0

Options:

£1547523869. 1
61547523870, 2
615475223871, 2
61547523872 4

Question Number : 144 Question Id : 6154756121 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



ZH Tt = 2 e F geE § @ A Ay
(1) =179 = FfHiaE T+ 7 9% T8 # 3
(3) =8 A =% + o ofg mefEaE I e

(4) ATl T e g 969 1w ST

(1)  (a) 3R (b) 771 7 (2) (a) 3R () TH 2
(3) (b) ¥ (d) T2 (4) (b) = (c) wE 2
Options:

B1547523873. 1
B1547523874. 2
B1547523875. 3
G1547523876. 4

Question Number : 145 Question 1d : 6154756122 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
HiEt iz W weE A I T 1w
(1) =119 = &g wieA-vq $1 g micrn 3 (g #) 3 Fad g6 T =
(2) 7Y " F = ugi w sgE
(3) TUF AN WAEE B W I 9F ANY
(4)  TU=d 9% & UF TR F A5 I 9F AR W
Options:
61547523877, 1
61547523878, 2

B1547523879. 3
61547523880, 4

Sub-Section Number: 3
Sub-Section 1d: 615475271
Question Shuffling Allowed : Yes

Question Id : 6154756123 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension



Read the following passage and answer the gquestion which follow :

7 preschool children were given a nutrition supplement of “Balbhog” under ICDS for

a

period of 6 months. The skin fold thickness (i1n mm) was measured before the programme

and also at the end of 6 months. The values are given in the following table

Sub questions

Child

Seral No.

Before supplement Balbhog
(skin fold

thickness mm)

After Balbhog
(skin fold

thickness mm)

1 06 08
2 08 08
3 08 10
4 06 09
3 03 08
G 09 10
7 06 09

Question Number : 146 Question Id : 6154756124 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What type of statistical test can be applied in above data?

(1) Chi square

(2) Standard error of difference between two proportion

(3) Paired t test

(4) Unpaired t test

Options:

51547523881, 1
61547523882, 2
61547523882, 3
E1547523884. 4

Question Number : 147 Question Id : 6154756125 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1z the mean (difference in skinfold thickness, in mm before and after giving Balbhog)?

(1) 1 2y 2
(3) 3 (4) 4
Options:

61547523885, 1
E1547523886. 2
E1547523887. 3
61547523888, 4

Question Number : 148 Question Id ;: 6154756126 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If S.D. of the above data 1s 1.15 and N 1s 7 then what 1s the standard error?

(1) 0.43 (2) 1.00
(3) 1.40 (4 2.00
Options:

BE1547523889. 1
61547523830, 2
61547523831, 3
E154752383%2. 4

Question Number : 149 Question Id : 6154756127 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the degree of freedom 1n above data?

(1) 4 (2) O
(3) 6 iy 7
Options:

615475238392, 1
E15475238394. 2
E1547523895. 3
B1547523856. 4

Question Number : 150 Question Id : 6154756128 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Calculated t value in the example is

465

Tabulated value t

degree of two 0.5 0.1 0.05 | 0.01 | 0.001
independent tailed

5 0.727 | 2.015 | 2571 | 4.032 | 6.889

8 0.718 | 1.943 | 2.447 | 3.707 | 5.959

T 0.711 | 1.895 | 2.365 | 3.499 | 5.408

The interpretation of the result could be best described as

(1) P =<0.05
{3) P < 0.001
Options:

BE1547523897. 1
615475238398, 2
615475238595, 3
61547523300, 4

Question Id : 6154756123 Question Type: COMPREHENSION Sub Question Shuffling Allowed

Questions: No
Question Numbers: (146 to 150)
Juestion Label - Comprehension

(2) P=005
4) P=0001

: Yes Group Comprehension
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1 06 08

2 08 08

3 08 10

4 06 09

5] 05 03

G 09 10

f 06 09

Sub questions

Question Number : 146 Question 1d : 6154756124 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1)  FE-T=m (2) =1 AT % s 2T H A T
(3 Ffma & 2= (4) s H =
Options:

61547523881, 1
61547523882, 2
E1547523883. 3
E1547523884. 4

Question Number : 147 Question Id : 6154756125 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
I (FTETHIT 54 % ge S S == e gmn 6 unn q 39t) F R

(1) 1 (2 2
{3) 3 (4) 4



Options:

61547523885, 1
61547523886 2
E1547523887. 2
61547522888, 4

Question Number : 148 Question Id : 6154756126 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e 3UG 2 1 AEE = 1.15 7 3 N 7 2, af 59 T2 #0127

(1) 0.43 (2) 1.00
(3) 1.40 (4) 2.00
Options:

E1547523889. 1
61547523830, 2
61547523831, 3
E154752383%2. 4

Question Number : 149 Question 1d : 6154756127 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T & ° A = A 9 2

(1) 4 (2) b5
(3) 6 4) 7
Options:

615475238392, 1
E15475238394. 2
E1547523895. 3
B1547523856. 4

Question Number : 150 Question Id : 6154756128 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



ST 33T ° Ulh{od 21 1 6 4.65 7

t =1 TR 99

=0 giong 1 Taeg =9reT 5 TR S a6l 2 7

(1) P<0.05

(3) P<0.001

Options:

61547523897, 1
61547523898, 2
61547523899 2
61547523300 4

wamdam | 0.5 | 0.1 | 0.05 | 0.01 |0.001
r-d'-_‘_c;
) 0.727 | 2.015 | 2.671 | 4.032 | 6.889
6 0.718 | 1.943 | 2.447 | 3.707 | 5.959
T 0.711 | 1.895 | 2.3656 | 3.499 | 5.408
(2) P=0.05
(4) P=0.001




